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lar
. : le of a regu
R . L . Each interior ang ber of
Year : 2004 ol =33 5 e APQR #fizom 12 polygon s 144°. e mun
wn an angle of A o . ides of the polygon 4o
hu\'nCSh has’ (irl'-laen he was aSked C m a’a am . : ’: %' A_fa?,' rjw Om ::;;1.; ag‘ia W m m ?ﬁ?; 14
BY e 45727 ¥ *. The per. T T e o 23 a7 gy [aks o1 9 Al ) e 7
astt n angle of 45°. : P 2 oae 3 Tz Tz a@"ﬁaﬁ'ﬂm ' 10 (d) 11
to dra¥ ?—ror in his drawing is OR= ffy % s m o (a) & (b) 9 '(C:erior angles of
v ° . in °
ocn*ag; :5, ® WA W 45° 27 F Fivy <PQS = 60°am £QCR = 130 13, If the sum ;(f) lg’eo n be 1080°, the
3 ¥ & a regu : the polygon
f:mzﬁmm 1.0% % /RPS =7 momber qf SieC Ora;‘rnﬁgn 2 1080
) 0.5% gt (@ 30° (b) 35° A T e
‘3 1.5% (@ 2. (c) 100° (d) 60° 2 : kil £ (¢ 10 (@) 12
‘ Year : 2006 7. In AABC » AD is the internal bi- !?}Z Gnumbe of sides in tWOffesg‘:ﬂir
: ’ ]  The ‘ 5 of 5: 4.
regular polygon, the exterior sector of /A, meeting the side BC 14 polygons¥are in the ::ut)heir Inte-
-t terior angles are in the ratio at D. If BD = 5 cm, BC = 7.5 em, difference bgtwe olygon is 6°.
and;n_rhe number of sides of the then AB : AC is o/riox ar;lglcsu;fbircofpsides '
1:4 ., . : E the n 4
i A LA F, [hen ¥ e #1 el 1 A9
lvgon is . 5@ A ABC H, AD . \ \ e =i A
e, e T s el fers & 7 g B A g D "fgm}?a'mmﬂw
o o . > < Hg
14 %1 7 7 A FE F2 A 8 fier 21 3f BD = 5em , BC = 7.5 cm ‘ 2{:;66%'1 & genAt #1 HeA A B2
‘ 3 ) 3 ' , 4
@s (010 (©) %, T AB : AC ZI by 38 ) () 15, 12 ;g; 20 16
Year : 2007 (@2:1 {d) 3:5 (c) 10, 8 al angle of regular poly-
: le are in the (©4:5 15. EaCh_ Intern 5 its external angle.
sides of a triang ; : incentre of c, on is two times it ides of the
mgo 3: 4 : 6. The triangle is :‘_% 8. I is the inc = o %hen the number of sides
o B ol A Ll = 60° andy / i il is :
=51 g =1 EN 3:4:6 % AW £ABC = 60 J polygon aft w01 IO aEE
. ? X Then /BIC is ' ot a1 F1 qeneti #i
Wlt angled ) C ##d Wy A
B mpate = I, AAB Hem 7 T2
{b) right- angled i (@) 8 (b) 6 (©) 5 3 (;i)o;f -
e obthuse aa:ug::d angled or right- £ o 0 @ 4BIC %! 16. Ratio of thic n::;bg gf,SlGeand the
d) either a A ' P - lar yg d o 7
. Angled (aé) 55° "« 7oilat(gi)'a? 5tl’i- ::fi‘; of fhoeir each mtertl)zl; 2?881;;:
. e Y of an equ - 25. Then the num
okripe sides of 2 9.  length 3 cm. Then the = ,hste two polygons are
¥ the length of thesthreeand 10 cm, each of its medﬁlann;cl;ﬁ ;{;:Ea F1 Al BT HEA F A
3 6 cm, cm > . = a[‘aﬂ;n E e [ < . -
Enangie are of the median to Sﬁgﬁ(?ﬁ . 5:6 2 a1 3% e IGIRE Eﬁhﬁ Kl 3‘_3““
then the length o gl 9 F GGG
its greatest side is Foh HIA] 3 24:25 31 @ 3 A @ge
s : . .
'ﬁﬁgﬁﬁaﬁiﬁﬁaﬁsm’smﬁ:’ i &maﬁ'eﬁawmﬁz
= " — cm 20,24
10cm §1 3531 TG 9 T W (a) 12 cm ® 7 E‘:‘)) T {3’) 35,42
ﬁ“ﬁ-’«?{%ﬁ’ - (@ 9 Cffl BE of 17. Measure of each interior angle' of a
f2) 8 em b) 6 cm (C) 4 medians AD an ke . regular polygon can never beﬁ o
- o r s
95 cm (d) 4.8 cm 10. Tw BC intersect at G ;Léfm el a3 B aafs F F T
g AA IfAD:gcmand-ch)iS T 7 aFa 2 . .
Year : 201 ) angles. gth of BD (in cr . 150° (b) 105° (c) 108° (d) 144
’ jusgof 3 At then the length O/ nifea#d AD T (@) length of the diagonal BD of
I the circumradiusgof 3 the , BC #d s5% 18, The lengt CD is 18 em. If
12l triangle be 10 % et AA mwﬁmﬁﬁm ¢l the parallelogram AB
=€asure of its in- - g BE'%G’R'H&‘ BE=6cm3, @ Pand Q are the centroid of the A ABC
x ot 5 0 O W AD - A and AADC respectively then the
Vemt, m N BD #I m) 6 @5 @3 length of the line segment PQ is
1
&5 cm (2) lgmr‘fnx be‘“’e‘z“atf,’:nex of a el ¥R A9 ABCD % i Bp
:;} 20 0 3 ds)plcsctcj:?ely the 11. 'Z:g exterior ar:lgl:f 12150" The num- T 18 em 31 3f2 fﬂg PW Q,AABC
an _ re . tre lygo onis . . ¢
o ocentde dnd the e e POR. T sies of the ol T AADC % %5 (T ja) B
% an acut¥angled tnaflg_l‘;d and ber agaa F AT = i A TE-ave PQ # o I )
o, 72i0ts P and O are 1OR at S. i s 150° 31 & (a) 4 cm o ?;mcm
Poduced 10 meet the side . EEI w77 (d) 30 (€) 9 cm (d
¥, * and ~QCR = 130°, = Fd () 15 (c} 24
‘ POS= 60° an (@) 10 e Sir
U (RPS = Rakesh
ofuaﬂ tS
wizard
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23.

The side AB of a parallelogram
ABCD is produced to E in such way
that BE = AB, DE intersects BC at Q
The point Q divides BC in the rfmo
AR =g ABCD &t 1 AB® g E
7% 39 We derm ™ & DE = AB, DE,
BC 7 fag 0 W whrfd F #1 g Q,
Y BC % fe@ orqum ® famfad

w2 26.
(@) 1:2 b)1:1
(c2:3 @2:1

ABCD is a cyclic trapezium such
that AD|| BC, if £ABC =70°,
then the value of #/BCD is :

w TF e SgeY W @ §, T
AD| BC, 3k <ABC =70°, ™
£BCD 1 9 @ HX?

(a) 60° (b) 70° (c) 40° (d) 80°

ABCD is a cyclic trapezium whose
sides AD and BC are parallel to each

other. If /ABC = 72°, then the

measure of the /BCD is

& 19 U Ique 39 YER ¢, et
g AD 941 BC §HARR 21 3%

/ABC = 72° 99 ,BCD =1 HI1
B

(a) 162° (b) 18° (c) 108° (d) 72°
If an exterior angle of a cyclic quad-
rilateral be 50°, then the interior
opposite angle is :

afg {4l 9% 9gys #1 a”d S 50°
{a) 130° (b) 40° (c) SO° (d) 90°
ABCD is a rhombus. A straight line
through C cuts AD produced at P

1
and AB produced at Q. If DP = —
AB, then the ratio of the J,v |
BQ and AB is ;
ABCD T ¥ =gy 21 T Y fig C'§

m%mmﬁﬁ@pmgi 2 30
QW ufSfea w6 & 6}@ AB,

2
9 BQ AUl AB#I ?
(@ 2:1  )FL:2 1:1 (d) 3:1
In a quadrilyter BCD, with un-
equal i diagonals AC and 3!
BD inter

: t’right angles then
¥, @ fasvi ‘Ac 7@ BD # W w
fawfsra et #)

25.

27.

28.

29.

nd
ratio of the angles ¢ZA a
square rhombus ABCD

is 4 : 5, then the value of zc-%isa;
fpdt g-=gYs ABCD, = =@ qﬁ%,
FoN £A T 4B 1 &I 4:5 | 7|

S ¢ AH TR .

(@) 50° (b) 45° (©) 80° (d!dge

ABCD is a rhombus whose §!

= 4 cm and +ABC = 120°, the.n

the length of diagonal BD 1s
al to:

j\(glco @ gIEgES € forgant Ao

AB=4cmd ,ABC =120° g™

The
ZB or a non-

forrot BD # T 4 Bl
(@) 1 cm (b) 2 cm
(c) 3 em (d) 4 cm

The length of a chord of a circle is
equal to the radius of the circle. The
angle which this chord subtends

IH 07 F AA F@ B, N TG ST
FU-TUS T T 87
(b) 45°

in the major segment of the circle 4
is equal to
fort g 1 W SEH B A R
4,

(c) 60° (d

between them is 1
of the circle is

AB = 8 cm 71 CDAssfs,

AB T AC &1 T 8 cm 11 6
em® W LBAC =90 , W gu W
oo T R

(a) 25 cm (b) 20 cm

(¢) 4 cm (d) 5 cm

The distance between two paralle]

chords of length 8
. cm i
circle of diameter 10 cmeizch e

Th .
i, ee gra:i;us 2{ two concentric circles
e an .15 cm, If the chord of
by greater circle be a tan *
ofe Smaller circle, then th Flenett

t}lat chord is i Iength

(a) AB? +BC% =CD? +Dp? T # By o
(b) AB? +CD?+ =BC2 :DAQ %Iwﬁnga v E\Técm 0 15 om
(c) AB? +AD? =BC* +CD? b S R ot
(d) AB? +BC% =2(CD? +DA?) E:g gg - < 12.cm
Cm
Wizard of Maths .
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32.

33.

35.

36.

Rakesh Yﬂf’ﬂcn [ < K8

If chord of a circle of Tfad;
a tangent to another
3 cm, both the .. :
concentric, then thecigqes ;?ix:! ,
chord is T8th of thi |
YERRA T A, 5 cm fiey ™
ST, 3 em B Ty
S F:t TEE W w0
(a) 10 cm (b) 125

(c) 8 cm @7 ey

. Jug 5
Cucleof:m.ix

q’a.

The two tangents are drawy,
extermities of diamete, at th,

circle with centre P, |f , tang
at ¢,

the circle at t

0
Q M R W Wi Fh §1 £QpR 5

T 2
(a) 45° (b) 60°
(c) 90° (d) 180°
AB is a chord to a circle and pAT
is the tangent to the circle at A, If

£BAT = 75° and /BAC= 4
and C being a point on the circl,
then £ABC is equal to

AB & 3 %] Sfial 791 PAT YA & fgA
R T Y@ #) A BAT =75 W
£BAC = 45° 71 C 90 W& fg ¥
ZABC 1 ¥H 91 {7

(a) 40° (b) 45° (c) 60° (@) 70°
The tangents at two points A a0

B on the circle with centre Oi;
tersects at P. If in quadrilatef

PAOB, /AOB: <APB* 5:h
then measure of LAPB 81
fielt 0 B ard 9  fe 3
o 5.4 o e e TP
FE ¥ 9t wgds PAOB T, £AOB’
LAPB=5:17 (APBT

o (d) 15
(a) 30° (b) 60° () 45 t(i)er P
Two circles touch eac is o di

ternally at point A and P? which
rect common tange?
touches the circles 2

respectively. Then lPAQ;q{pﬁf
A TR ﬁ‘wﬂﬁt‘zﬁm
W T PQ@EWW;M%,@
Tt = fargaedf pA QW

<PAQ =?

o0
(a) 45° ) 87° @)

’ 900 A



\ o spmEnt [0 Gt wath Centto

o IR
3 et s ¥ oomn ab paret Q. UF
ke 2 AT OR= & omoanc
.»"Q}‘ i
BA :
ipee —— Cop them (i om) the length
W ‘5 = )
43,
IR S N
= ;‘.*;:_:-_m;nx;gxm ARTEG W WY QW

[4

g T T AT POR = 90°,

20
QR = —

~
2

~ - <Y > 7 b \
T IR TR (Gn) ¥ W W 44,

L& <3 25
@ 3 b ©@— @ —=—
< . 3

v, T crords AE ana CD of crcle whoese

wntre s 0. mest at the peint B and
~EQD =4Q°, Then

e value of _EFD s

o3 TS T W W SE™ AB W CD

_0C= S0, EOD=40° 31 £BPD

Esk

@ 60° (B 20° (@) 45° (d) T5°
38 A srraight Uzme pearzllel to BC of
A2 imrersects AB and AC at
gomts B and Q respectively.
AP = QC, PFB =4 units and AQ = 9
units.. then the length of AP is ¢
ET AC T [ P Q W Wa=ad
A £ AP = QC, PB = 4 € 7 AQ
=3 o % 79 AP FT T WA 2

_cc= 0%,

(@ 28 units (b) 3 units
[c € units (d) 6.5 umits

. The circumcentre of a2 triangle ABC
BO.F /,BAC = 85" and £BCh4
73%, then the value of 2O0A

A ABC muiE=Z 0813® «BA 46.

8 ,BCA =75°¢% @@ 4OAC
W AR =57
O the e ’\@‘ o

(i
1. 0 is the incentre BC and
3

LA=20°, dhen [, is

O, AABC A MfF= ¢ LA™

200 %; = o= a;_z?

(3j 100° =s e (d) 90° 47
” 5° (¢ 110° (d) 2

Let O be th€ in-centre of a triangle

ABC and D be a point on the side
BC of AABC, that
OD L BC. ¥ «BOD = 15°, then

such

;s s 3

| av: it (Q ‘h‘g‘-ﬂ ABC Wt 3t 9% § qey 48
3L BC W v fiag 2, |

QD | B¢ R <BOD .

if in & triangle, the orthocentre lies
on vertex, then the trainglg is
o fasg 1, ervd 7, ¥ o feed 81 79

-1 8w )
LABC =2 ' = ELER S
rge . . sosceles
a) 75 A (a) Acute angled (b) l?o&_rc
tnj 'q\:“ ) ‘ls_ (©) 150% (¢) 0o () Right angled (d) Equilateral
! tangle ABC, incentre is Oand 49 I the incentre of an equilateral tri-
<BOC = 110 then ' angle lies inside the triangle and

the its radius is 3 cm, then the side of
the equilaterdl triangle is

afx forelt T FasE @1 o @, R
% sr fre # aan Fe frean 3 om €79

T PN 1 [ A

measure of ZBAC 1\

A ABC w1 sy ue ondat «BOC =
e R, W LBAC &

(@ 20°  (b) 40* (¢) 85°

; ‘ ‘ (d) 110° ‘

1::‘2 points D and E are t&ﬂ:en on @ 943 2m " 6J5 -
the sides AB and AC of © 3 (d) 6 cm

If A man isnsceles triangle

with 264 90° and AC = 5 cm
heny AB s ¢
Ndpe ww wizg e &

,C = 90° 74 AC =5cm 1 AB

AABC such that AD = %AB, 80,

1
AE = 3“ AC. If the length of BC is

1S em, then the length of DE is :

AABC ¥ fag puw E Y AB a4 T w7
(a) 5 cm (b) 10 cm
AR W wr ¢ f% AD = (¢) 52 cm (d) 2.5 cm

If the circumeentre of a triangle lies
outside it, then the triangle is

A ABC %1 913 %, i & 9t &, 7

— faqa 21
h (a) Equilateral (b) Acute angled
7 A S {c) Right angled (d) Obtuse angled
cm . §3. | is the incentre of a triangle ABC,
) on side AC of _
, Qy X, Y are the i AA'CB = 55% <ABC =
b oF AB, BC, AD and DC thefi the value of £BIC is
%;, then the ratio of PX lﬁﬂ“h&ﬂ#ﬂ:ﬂi’lﬂﬁ,é/{cs i
55° A LABC = 65° ¥, 98 /BIC

A, 51.
1
AE-;AC%,“WQ 13em

65°

C = g ACW fag pfem &1

< ﬁ)
P.Q, XY AB, BC, AD, DC & ¥ A
ﬁé"%’laﬁpx.ﬁ:‘m@m S T2 (@) 130* (b} 120° () 140° (d) 110°
(@) 1:2 (b)1:1 53. In AABC, 2BAC = 90° and
(c2:1 (d2:3

In AABC,PQis parallel to BC. If
AP:PB=1:2andAQ-3cm;AC
is equal to

AABC 1, pQ, BC & TAMR #1 A%

1 .
AB = E BC, Then the measure of

ZACB is:
AABC %, «BAC = 90°

1 qur
AP:PB-1:2 71 AQ = 3 cm #, @ AC 1
BN AB =— BC?,% LACB %
(a) 6 cm (b) 9 cm 2
(c) 12 cm (d) 8 cm (@) 60°  (b) 20° s @ 15
Year : 2012 54. The length of the three sides of 2

right angled triangle are (x2jcm,
(9 cm and (x+2} cm respectively.
Then the value of x is

troid
the orthocentre and the cen
gf a triangle are the same, then the

triangle is;

7 5 FZ aW Boh G
’ a:cajene (b) Right angled @ T A T F )
@) (d) Obtuse angl aj 160 ()8 o 4 (d) 0

(© Equilateral

Yadav Sir i .
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Huppase A ANC Te @ right -angled
tilangle ZA =00% and
AD L O 0 arl AARC )= A0
cind, sl AACD ) = 16 em* and
AC = O g then the lepgth of BC is
AARC us ww P @, el
JA=00% A AD L pC AR
AANC &1 Q46 = 40 et 441
AACDH @1 RFEA = 10 em?* 741
AC = 9 o, #4 RC &) A s FT7

(a) 12 em (h) 1H em
() 4 emn (d) 6 em

in & triangle ARC, £IAC = 90°

and AD is perpendicular to RC,
If AD = 6 em and BD = 4 em then
the length of HC js |

AANC W, NAC =00 AUl
AD ) NC Raf AD = 6 em 391 BD
= A o B, d6 RO #) HEd 5o 17

whaje

{a) M em (b 10 em
(€) 9 em (d) 13 em
In & vright angled AARC,

JADC =00, A3 =3, BC =4, CA =
fi; BN is perpendicular to AC, AN
NC s

wEM AANC T, 2ADC =90°, AD
= 4,1C =4, CA =5 I BN, 31 AC T
mig #1 AN | NC 2

(a) 3¢ 4 (b)9:16

(€) 4116 (d) 114

For & triangle base is 6\J3 cm and

two base apgles are 30° and 60°%,
Then height of the triangle is

fase) fasga W st ¢, [3 em w41 sun
wvv 300 aat 60° 1 fapn A werd
WA w7

(@) 34 em (h) 4.5 em

() 4,/;;" cm (d) 2\/{; om

ABC is n right angled trifngled;
right angled at C andep jg t 1eth
of the perpendicular {regp {6 on AD, If

n, b and ¢ are the legethiof the sides
BE, CA and Al 1e m y , then
AW A ARC O 8, qvy

W'i cY el gy mvad p#

LRTE AL ) ovard v
a, hd9l ¢
s l "
W TR
R
(b) pz‘" 7t 12

hll,

61,

(2,

H3,

66,

I B

W22

The ortha centre of a right angled
triangle lies _ o
fepafy oI ﬁsﬁﬂmaﬁ?hmmm
(a) outside the triangle

(h) at the right angular Vertex

(c) on its hypotenuse

(d) within the triangle

Lach interior angle of & regul'ar
polygon is three times its exterior
angle, then the number of sides of
the regular polygon is )
fegafl A 1 Al F TAE A AT
1 4T #1748 A A el 71 T
A w7

@o (A& (10 (d)7

The sum of all interior angles of aA,

regular polygon s twice the sum of
all ite exterior angles, The number
of sides of the polygon is ) 4
fepft agaqa & afafr Fawil 71 A, 5
qI7A FA % A F AP R AR
A[AIHT 71 T WA w17 I
(8) 10 (h) 8 ﬁ(c) 12 (d) 6
The ratio hetweefi ‘ghffypumbeg of
sides of two regula “i)KIy‘éQns is 1
2 and the ratio hcfw:li)‘ there inte-
rior angles is 2. 3*Ehe number of
gides  of 71«:' olygons

respectfye]

fﬂﬂﬁil?;"% I F1 T F g7
112 .",' 7 A AT 21 3
Pl gyﬁvwaﬂaﬁlﬁ@nm#?

)20, 127 (h) 5,10
? 1ou (d) 7, 14

ARCD s eyelic parallelogram,The
angle 23 s equal to ;

ABCD T 77 F347 %1 Fm B 71 w9
WA w17

(1) 30° () 6O°  (c) 45" (d) 90
ABCD fs a cyelic quadrilateral and
O is the centre of the circle, If

£C0OD = 140" and /BAC = 40°,

is

then the value of ZBCD is
equal to

ABCD % w5a wpds & w0 g 7
A% H oA Lcop = 140¢ 71, T
/BAC = 40" B, % ,pCD wm Lafs
(a) 70" (b) 90° () 60 (d) 80O~
ABCD I8 a trapezium whms,e side
AD I8 parallel to BC, Diagonals AC

and 13D Intersect at 0 4
' IrBEC L 0, If
AD = 3, CO = x =3, BO = 3x ~19

and DO = x . 6, the vg
Wil b alue(s) of x

67,

Q-

(bj 12, ¢
(c) 7, 10 (45 o

Two equal circles 5 rad;
intersect each gthe, b2 4 =

passes through the ey |
other. The length ofc:;:“ "(!b' ;
chord is ey, |
4 cm 7 A ki T
F 7 % iz4 i
K L
(a) 24/3, 0447 o
(d) & em

6F ne' chord of a circle g knomm 1,
i ¢ 10.1 cm. The radius of thi

: circle must be ;

69,

70,

71,

% 77 F1 TF AW 101 emd,
1 o 7 fey

(a) 5 cm

{b) greater than 5 cm

(c) greater than or equal to 5 em
(d) less than 5 cm

The length of the chord of a cirde
is 8 cm and perpendicular distanc:
between centre and the chord is
cm. Then the radius of the circe
is equal to ;

7 47 a7 3em B A AP
A T

(8) 4 cm (b) 5cm
(c) 6 cm (d) 8 cm r
The length of the common chor

, & : [+ 3
two intersecting circles 13 % W

If the diameter of the circles 2 ‘he
em and 26 cm,
distance between
(in cm) is a‘ﬁ{
= st 7 1 3T W;wﬂ
24cm%mfv:hfqﬂ1’f”,’““. At

26 cm 3, 7 T L '
A L7

4 16
(@) 13 (b 14 (015 @ at

In a circle of radius 21 C’;‘, at 1h
subtends an anglée ¢ e 81C is
centre, The length of ! e @
72° H mmmmﬁM P

(a) 21.6 cm {b) 29;38 -
(d) 13.2 cm (d) 19%

~—Wizard of Maths - Rakesh Yadav Sir—

T EI—

i
!
i
|
|
§




the length of PB is

@R T Wffe AB T CD TH-TW FY
[ TR fog P wfreRfiE e # al
AB=6cm,CD=3cm @ PD = 5
‘¥, T PB R TR T w2

(@) 5 cm (b) 7.35 cm

()6 cm (d) 4 cm

AB and CD are two parallel chords

0;1 the opposite sides of the centre
o the circle. If AB = 10 cm, CD =

circle can always be drawn 78, It th
niqee ber of given non-col- - radif of ¢
:‘ ;‘I\“’ 201:1::"?}10.11 X ngmst be VC:?SS ¢m and thvzol§31l;l}fstlbc ity
" oal ) . - (] comy ¢ trﬂns-
;\%‘ qﬂ‘xfﬁaﬂ /TR !I'\ﬂfal ?, s then the dig&';‘mt““gcm be 8 ¢m
Mqﬁ%l e X | ﬁ? chtres {s ¢ thWC(ln the two
4 @1 K Py
(b) 3 (c) S —
0?2 arallel chords are drawn in cm §) m 6 cm 7oy 3
WO cle of diameter 30 cm. The cm B By 3% Tt g
7 n{h of one chord is 24 cm and YRR o 3 i T T
[eng distance between the two @ V145 cm
h;rd* is 21 cm. The length of the (b) V140 cm
¢ROTE d is (C) \/1
ther €hor i 50 cm d) STae
e T @ g9 W 2 AR ‘Gﬁ‘q'l 81 79. The distance between t11135 o
& R R 24 om Y1 A S two equal circles each ocf cegtm -
sqa A g 21 em B, 79 T ot 7 om, 15 10 cm. The longth of g trae
mmﬂﬁ? ‘é'ersc common tangent jg )
(b) 18 cm IR o B 3 cm # won T
(o) 10 cm R B EiE|
2 em (d) 16 cm 0 10 cm #1 srgren g
|f two equal circles whose centres Wl T ) I T
are 0 and 0' intersect each other Eg} 2 2:2 (b) 10 cm
. ' d) 6
atthe point Aand B, 00" = 12 cm 80. The radi of two s:il'clezmarc 5 cm
and AB = 16 cm, then the radius of and 3 cm, the distance between
the circle is }heirhcentr
- ength of th
QWW?W 03 O %.W’F-Kﬂi tangent is € transverse common
7 fig A 3R B W vf=ofa ww ¥ qon 5 9ft 7o 3 Weh e o) ) ol = b
00'= 12 cm T AB = 16 cm ¥, T 1 A 5l 24 0 1 sven T
z(;a)ﬁ)f‘:l?srmaﬁ? b5 Ta T T
8 cm
112 cm (d) 14 cm (a) 16 cm CREN-AN
5. Chords AB and CD of a circle in- ,ﬁ)
tersect externally at P. If AB = 6 (c) 16\5
cm, CD: 3 cm and PD = 5 cm, then 81- AC iS the diameter
of AABC. Chmdi

(s,
ctfcumcircle
s

parallel to
£CBE = 50°,
& of 2,DEC is

AA F W AC B1 San
SAERAC & guT=R 21 3k
£50° , ™ £/DEC T &{?
(@507 (b) 90° (c) 60° (d) 40°
. The”length of the two sides forming
the right angle of a right- angled tri-

angle are 6 cm and 8 cm. The length
of its circum-radius is :

ot T F H TR T e
T3l Y TR 6 cm U 8 cm B ITH
TR @ Fe T\ w2

(@) 5 cm (b) 7 cm

(c) 6 cm (d) 10 cm

The length of radius of a circum-
circle of a triangle having sides 3
cm, 4cm and Scm is @

wn ch other ex- 3 cm, 4 cm T 5 cm T art s
Mon a direct com- afiga A e T
ind p e two circles, A (a) 2 cm (b) 2.5 cm
¢PAR omt of contact and (d) 3 cm . (df) t\lav-c?ccirrzles with
! i are centre 0
' mﬁ‘{ﬂi- ; Tl}en ARG 8 B4 l:a?ili]id 9? cm and 2 cm respectively,
Wy ! i P e w9 & =l where PQ =17 cm. R is the centre of
; hq, B e 3wt Tt another circle of radius x-cm, whcxlch
At each of the above two circles
e B'F’T'ﬁﬁ%%m /PAB = touches :
(&)3% ZABP =% externally. If £PRQ =90°, then
S (b) 550 (©) 65'° ) 75° the value of x i8

~=J

85.

87.

88.

89.

Paw Q 3% a1, 9 cm @ 2 cm B
TG A FR B AR 17em IR, x

om fn 1) 7 1 B 8, S o A FH
1 ey T w7 1 4% <PRQ = 90°,
T x %1 0H gra &7

(a) 4 cm (b) 6 cm

{c) 7 cm (d) 8 cm

Two line segments PQ and RS in-
tersect at X in such a way that XP

= XR. If £/PSX = ZRQX , then one
must have

T {@-gvs pQ e RS, firg x W
R Sfrefan § fF XP = XR AR

Apsmﬁ%zg , T ITgH A T
E

(a) PR = Q (b) PS = RQ
(XSO = 2XRP

L)
S, — —2
na AABC:ABZ+AC = BC

¢ is 24 cm. Then the Q@ r(APXR) = ar (A0QXS)
6 2
E.j‘l‘é

and gc = \[oAB ,then ZABC is:
¥ AABc ¥, 25%,ac”-Bc?
T BC = JaaB BT ,ABC ¥?
(a) 30° (b) 45° (c) 60° (d) 90°

T\_vo chords AB and CD of a circle
with centre O intersect each other

at the point P. If /AOD = 20° and
<BOC = 30°, then ,BpPC
equal to :

O %% a1t g9 Y | AW AB oy CD
-3/ g P wfvRfa vt € af
£ZAOD =20° 9 ,BOC = 30° , I
£BPC & &{?

(a) 50°  (b) 20° (¢} 25° (d) 30°

{\BCD is: a quadrilateral inscribed
In a circle with centre O. If

<COD = 120° and /BAC = 30°
then ~BCD is : ’
o%améqaﬁmwwz@a%mﬁ
<COD =120° ¥ £BAC = 30° %
W@ «,BCD ¥

(8) 75°  (b) 90°

is

)

(c) 120° (d) 60°
If AABC is similar to ADEF

such that zA4 = 47° gnq 2E =63°

then £C is equal to :

A ABC, A DEF P Y e
Wﬁﬂﬂﬁ £ZA =47° [ <E =63° %
T £C TR
(a) 40°  (b) 70°

)

() 65° (q) 37

; Si
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90. The internal pisectors  of

+/ABC and <£ACB of AABC
meet each other at 0. If Z£BOC =

110°, then 2BAC s equal to

A ABC. Z ABC @1 £ ACB #
gafgoias o w faad g1 I
¢BOC =110° , @ £ BAC ¥ 7t
{a) 40° (b) 55° (¢) 90° (d) 110°
AABC, «B=60°
2€ = 40°. If AD and AE be re-
spectively the internal bisector of
zA and perpéendicular ofi BC, then
the measure of 2 DAE is

feeh B9 A ABC ¥, 4B = 60°,
<C =40° ¥ I AD TN AE; £A
% sfiaRs wulgwe® § 9 BC W W
%1 .DAE T w0

a5 ) 16° () 40° (d) 60°
Internal bisectors of £B and
2Cof AABC iftersect at O. If
£4BOC = 102°, then the valu& 6f
£ZBAC is

AABC 7 /B T ,C % 3w
FhwEE 0 W ek B &) Ok
<BOC = 102° ;78 /BAC &1 WA
FAR?

(@) 12° (b)24° (c) 48° (d) 60°
The angle between the external bi-
sectors of two angles of a triangle
is 60°. Then the third angle of the
triafnigle is

el T 2 9 11 3 e -y
F 99 W 60° 81 i 10 7w w2
(@) 40°  (b) 50° (c) 60° (d) 80°
I is the incefitre of AABC, If

ZABC = 60°, ZBCA = 80°, @
the £BIC is )

and

91. In

92.

93.

94,

L A ABC #3349k, BC

60°, /BCA = 80°%, 7 4
(@) 90°  (b) 100° (g 5
In AABC, draw C and

CF L AB d &pendicula:
BE and CF #er t the point O,
If /B = en the valye of
£BOC

AABC ¥, BE | ac

qe
(?p 1 AB % & BE g CF U#-ggt
mﬁgomnﬁmm%‘m&z&q
70°W| ,Boc ¥ HH 91| w52
(@) 125° (b) 550 () 150° (q) 110°

95.

C-=
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o .4es apnd arc ABC
g is the eentre Bf,‘goo at O. AB

‘d'saﬁaﬁglebfl prr 22
subten - PBC is
g W 130°

/PBC TF
(a) 75° (b) 70°
Internal bisector
gle ABC meet at O. If

(c) 65° (d) 80°

7 s of angles «B and
a7.

2C ofa trian
+,BAC = 80°% then the value of

2BOC is

A ABC , @@l B @ £C %

ariafes Ttz fag O T fer 81 AR

JBAC - 80° @ ,BOC ¥ #?
o -] 1300

() 120° (b) 140° (c) 110° (d)

Iti triangle PQR, points A, B and C

are taken oii PQ, PR and QR re-
spectively such that QC= AC and

CR = CB. If ZQPR =40°, then

o

C=
R = 40° %,

W /ACB W #

() 140° (b) 403 70° (d) 100°
AD is the me triangle ABC
and O etestroid such that

AO =10 he length of OD (in

cm) is
o C %t wfeamt §1 0 79 woR
y AO = 10 cm ®) oD #H
(a)

98.

£LACB is equal to :
A PQR ¥, fag A, BTN C,
PR T QR W 50 WK fau
ACTH CR=CB,

99.

LOE

5 g6
'I:he equidistant point from the ver-
tices of a triangle is calleq its:
Forel e 5 ¥ 4wt 1 o g
e B
(a) Centroid
(b) Incentre
(c) Circumcentre
(d) Orthocentre

10%. a8

101.

102.

103.

104.

105.

106,

h ¢

%,
1.
l?:‘,‘i‘: :

In a triang]e o

cm, BC + CA=14’ Ag*

18 om. Find the 1, ! ang

(in ¢m) which has thus of 4
3 e )

eter as ths tn?ngle Sagg, r::"-i

A ABC ¥, ag ., Bc %

CA = 14 cm, aygy CA .

wqﬁaﬁﬁ?ﬂaﬁmh‘:ﬂ* it}

7
(b) —

-‘1E

T T E DEIIBCmb,i

A ABC & Wﬁﬁmw-‘
ﬁm%lmmnnmmmﬁ

@1:1 (b)lt\li-l
© 1:y2 (@ 1: fop1
Year 2013 '

In a triangle, if three altitudes o
equal, then the triangle is |
ol vt =& 9 vird H‘i‘fﬁﬂﬁﬁ'ﬂ?
2P )

(a) obtuse (b) Equilaterd
(c) Right (d) Isosceles
If ABC is an equilateral triange
D is a point on BC such

AD 1 BC, then

A ABC T warg b ¢, f 0¥
BC W 39 &R fer 8, 5 ADLE

2, i
(@ AB:BD=1:1 !
(b)AB:BD=1:2
(AB:BD=2:1

(d AB:BD=3:2 ¢
The side QR of an el
angle PQR is produced ;05 P
S in such a way that C mcafﬂzf

P is joined to S. Then tH 7" |
of /PSR is {

Pt s fireran ot 41 4P
T .
(a) 30° (0)60

T 59 BRI &) o

45.'.
@
»a

b

(b) 15°



i

[ ABC be an cquilateral traingle
» AE AN, BY, CZ be the altitudes,
Nj:*n the right statement out of the
g‘“_ ghven responses is
| ABC T WEE ENCR AX, BY o
°, - 81 W fae s
L¥ 4 y =
i’?\‘ '\\’ = B\ - (-'Z
lN “L\' ot B)’ 3
[ AN = BY = CZ
t\“ ‘,\’\' =t B). P CZ
ABC is an isosceles triangle such
i gat AB = AC and /B = 35°, AD is
(he median to the base BC., Then
_BAD s
\ ABC & Wifig B ¥ fw AB =
i AC @ B =35 %l AD, ¥ BC ©
| sheRR 2BAD R
@700 ()35 () 110° (d) 85°
109, ABC is an isosceles triangle with
"7 a8 = AC , A circle through B touch-
ing AC at the middle point inter-
sects AB at P. Then AP : AB is :
 ¥REE A ABC W R v AB
-AC. @ §9 B ¥ TRQ § T4 AC W
7w g W WY S ® U AB W g P
R rsfd FX@ 81 AP : AB 9@ &?
@4:1 b2:3
{93:95 d1:4
110. In an isosceles triangle, if the unequal
i angle is twice the sum of the equal
angles, then each equal angle is

3 T S A H R TR W
T T A 6 A2

(8 120° (b) 60° (c) 30° (d) 90°
AABC is an isosceles triangle

“r

1.

and 4B = AC = 2a unit, BC = 8

unit. Draw Ap 1 BC » and find

the length of Ap -

@ Wiz e A ABC ® AB=AS

= 2 a unit au1 BC = a unit B

A o i e, a0

4D 1 BC T ADH WG P
Avg mt‘.-.‘ N
2y »
@ V15 aunit (6’)-«2-— “a unit
r{ "’:‘l"‘k !\;{ij
R i\‘f@ NT2
9 iy, oy W) —— vt

2b) :
' riangle ABC is right-

‘:;1 isoscéle

gled aﬁ% ' is a point inside the
u;angle AB l.)P and Q are the feet
9 the perpendiculars drawn from
" o0 the side AB and AC respec-
Uely of AABC . If AP = @ ¢ >

A.Q = bcm and £BAD = 15°
Sin 75° =
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113.

114.

115.

117.

1°I\6.
Vo ™
Ao ;
2

» B 9 wepy

oA ABC 5
p .W{\B‘ﬁm/\cmm@m;ﬁ%
WRQ%W&AP"“CHL AQ-b:r]:

<BAD = 150,Sin75°‘ )
(a) =
a

V3a o) o

V3a
(¢) ——

(d) :y‘za‘
. 2.b 3b
Cis an isosceles triangle with

AB = AC. The side BA is produced
to D such that AB = AD, It £ABC =

30°, then ZBCD is equal to

Wfgw® A ABC 39 wwn ¢ ¥
AB = AC, BA #® fag
D 9% 39 YR g T fF AB = AD A%
ZABC =30° %, 7 ,BCD ¥ &
(a) 45°  (b) 90° () 30° (d) 60°
In a triangle ABC, AB = Af
¢BAC = 40° then the ex
angle at B is :
. N&‘

A ABC ¥, AB = AC, £/BAC =\40°

Ay
0@ 4 B AT W\ F?
(a) 90° (b) 70° Ac) 1107 (d) 80°
Taking any threeyof the line

segments out pfjsegprents of length
3 Y and 6 cm, the

i ) it fapan B

e 87
g b2 @1 @4
If the length of the sides of a tri-
angle are in the ratio 4 : 5 : 6 and
the inradius of the triangle is 3
cm, then the altitude of the tnanglc
corresponding to the largest side
as base is : ]
e e 1 el 1 ST 4:5:6 %
syt o 3 om &, 7@ e 9 W
i 1w @ F

(@) 7.5 cm (b) 6 cm

(c) 10 cm (d) 8 cm o
ABC is a triangle. The bisector
the internal angle 2B and external

angle 2C intersect at D. If

BDC = 50% then 24
A ABC ¥ £B 1 StiaRe 7 zcag
ﬁgpmgﬁﬁkﬁa?ﬁl |

. N\_—/ izard of Maths - Rakesh Yadav Sir
Wizar@

118. In a triangle ABC, the side BC is
extended up to D such that

CD = AC. If £BAD = 109° and
2ACB = 72° then the value of

ZABC is
f&ft A ABC # ¥ BCH D W
ag1al mar f& cD = ACI 4f%

/BAD=109°%, 3w JACB =72° @

£ABC % WH W w2

(a) 35° (b) 60° (c) 40° (d) 457
The sum of three altitudes of &
triangle is

ot P91 3 il et 1 7 1

(a) equal t%‘th%sum of three sides

(b) legs tharf:tg v sum of sides
(c) greatemghdn the sum of sides
(d) twice tk})'e sum of sides

120. In,AABG /A = 90°and AD 1 BC
jghére D lies on BC. If BC = 8 cm
A(S‘: 6 cm , then AABC: AACD=7?

ABCH, /A =90° @ AD L BC
<t fig D, e BC W faer #1 4f& BC
= 8 cm, AC = 6 cm %,ﬂ?{ AABC:

119,

AACD=7?
(@) 4:3 (b) 25 : 16
(c) 16 : 9 (d)25:9

121. If the median drawn on the base of
a triangle is half its base the tri-

angle will be

o fort oot & SMUR W @i T e
T9% YR F s 1 @ B 2

(a) right-angled

(b) acute-angled

(c) obtuse-angled

(d) equilateral

In a right-angle AABC, <ABC =
90°, AB = 5 cm and BC = 12 cm.
The radius of the circumcircle of
the triangle ABC is

waso s ABCH ,ABC = 90°, AB

=5cmad BC=12cm % AABCH

122.

ored g9+ e @ w2
(@) 7.5 cm (b) 6 cm
(c) 6.5 cm (d) 7 cm

123. In a right-angled triangle, the prod-
uct of two sides is equal to half of
the square of the third side i.e., hy-
potenuse. One of the acute angle
must be

et TR S H, oAl H AR
TH JHF o A4 F B T F:; a2
TE =R A B A6y

(a) 60° (b) 30° -(c) 45° (d) 15°
A point D is taken from the side
BC of a right-angled triangle ABC,
where AB is hypotenuse. Then

Wmfﬂﬂﬁ A ABC qﬁﬁsﬂBC

w fag D foran 7, el AB @ #vi §)
(a) AB* CD? =BC%+AD?

(b) CD?+ BD? =2AD?

(c) AB%+ AC? =2AD?

(d) AB?= AD?*+BC?

124.




125. D and E are two points on the sides
AC and BC respectively of

AABCsuch that DE = 18 cm,
CE = 5 cm and oDEC= 90° If tan
ZABC = 3.6, then AC : CD =
AABC ¥ Yt AC 71 BC W ¥ g
D% E¥W YR & fF DE =18cm , CE
=5cm @0  DEC=90° ® IR tan
ZABC=3.6 %, @ AC:CD = ?
(ad BC: 2CE  (b) 2CE : BC
(c) 2BC : CE (d) CE : 2BC
126. BL and CM are medians of AABC
right- angled at A and BC = 5 cm. If

3Vs

<

BL = . cm, then the length of

CM is
TS e ABC Wl AW wwEm § it
BL @91 CM Wfeq&Td § §1 BC = 5cm ¥,

9% BL = i;/——s—cm‘é, T CM 9 T

T w2
@) 245 em () 52 cm
© 102 em (@) 45 cm

127. In AABC and ADEF, AB = DE
and BC = EF, then one can infer

that AABC = ADEF, when
AABC T ADEF ¥, AB = DE a1
BC = EF 2, 99 wId o fw
AABC = ADEF, @I

(@) «BAC = 4EDF
(b) ~ACB = /EDF
() zACB = +DFE

(d £ABC = /DEF

128. Q is a point in the interior of a rect-
angle ABCD, if QA = 3
QB =4 c¢m and QC = 5 cm the!
length of QD ( in cm) is
#MF ABCD 3 &=t fag Q #)

QA=3cm, QB=4cm C=
cm & T QD [ ?
(@ 32

(© 34

129, ABCD is a here the ra-
tio of the le and BC is 3
22 .1 id- point of AB,
then the of sin ,CPR is

#1 Y1 AB 71 BC 1
I 3:2 %1 AR fag P w5 AB F1 wey
3 8179 sin ,CPB %1 W 7 w0

3 2 3 4

@ = [ 5 @7 @ 3

Scanned by CamScanner

130.

131,

133.

134,

185.

136.
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37, A quadrilatera} 4
I f (rllr('l(-. and AR /E-!]f;r,)l;; rg;), BTl
and AD = 7 em, The lf"ﬂ;‘lh‘ S ey
BC la SHof ﬁidt
WP ABCD W 4 sy U 45
T W AB < 6 em, op . 5 ‘m
AD =7 cm ?) T BC Y & (Ffrl:;:?l
1Y

Inside a square ABCD , BEC In an
equilateral trinngle, I CE and 8D

intersect at O, then £ BOC In

wi ABCD W orat, wwag (o A BEC
1 uft cg wen B, feg 0 W wfirfka

a 1 cm I &
ot i mw o BoC W R () 4 en (b) 5 e
({)) 75 () 90° (d) 120° [e] & om () 6 em

(a) 60° ‘
Each internal angle of regular
polygon is two times its cxlurnnl.
angle. Then the number of sides of

the polygon is: .
fipelt sttt oriaRer v TEE AEH W0

w1 2 T 1 Sgt W g e w07

138, In a cyclic quadrilaterg)

LAV EBY/CH D= D

frdt  wwtn wgyy ABeD 4

LAY B CH 2D P

(a) 90°  (b) 360° (¢) 180" d) 100

AB and CD aré*two parae|
‘161!1_‘.1

ABcp,

139,

() 8 (b) 6 €5 (d 7 of a circle%uethat AB = 19 oy and
. The sum of interior angles of a regu- cD = 24 ofh,. ‘h; the chord, i
lar polygon is 1440°. The number the opposite itles of the centre anﬁ

of sides of the polygon is

ol srgaget & ovaftew i 1 ahT 1440°
R, 9 TEW 1SS W W@ T w7
@10 (B)12 (6 (d)8
ABCD is a cyclic trapezium with

distance Between them is |7 em
then thqﬁmdius of the circle jg,

A R TR S AB 7y
FR ¥, 5 AB - 10 em 7y
CD% 24 om #1 AR W o 2z 3

AB || DC and AB is a diameter of‘% \ foram o frera ﬁaﬂlm?ﬂaﬁgﬁ
the circle. If /CAB = 30°, then x’ . 17cm3’f,ﬁTqH?5°rﬁmnamaff?

. (a) 11 cm (b) 12 cm
ZADC is {c) 13 cm (d) 10 cm

=

AB| DC WAB%WW?%

WA o 9gs ABCD
£CAB =30° ¥, ~£ADC

(8) 60° (b) 120° (O} I50° (d) 30°
ABCD is a cyclic quadrilateral. AB
and DC are proddced to meet at P,

If LADC = 70“}md DAB = 60°,

140. A chord AB of a circle C, of radius

(V3 +1) cm touches a circle C, which
is concentric to C,. If the radius of C,

is (3-1)cm. The length of AB s :

q FHHT g9 C, 91 C, 7 I & fF
(V3 +1) cm foren At 3 ¢, #i o ap
(3 - 1) cm P 1t g9 C2 ) v F

then th 2PCB is
=4S §1 AB 791 DC 21 AB % T 1
9 g P faem 1 afk (@ 24/3 cm (b) 843 cm
0°99 /,DAB = ° 19,
60 © 443 cm  (d) 443 cm
¢+ 2PCB = 141. The length of the common chord of
Q30° (b) 150° (c) 155° (d) 180° two circles of radii 30 cm and 40
clic quadrilateral ABCD is such cm whose centres are 50 cm apart
that AB = BC , AD = DC, is (in cm)
AC L BD, /CAD =6, then the 30 cm T 40 om Fren w & 9 A
angle ,ABC - ;ﬁﬁﬁﬁ%ﬁm;mﬂwﬁ
T i S50 cm ®l
"1 Y9 ABCD T waR ¢, i (@ 12 (b)24 (c) 36 (d) 48
AB =BC, AD = DC, AC L BDW 142. Chords AB and CD of a circle in-

tersect at E and are perpendimllaér
to each other. Segments AE, EB 3“3
ED are of lengths 2 cm, 6 cm and :
cm respectively. Then the length ©
the diameter of the circle (in cm) 3

foret g9 %t 9 sfrard AB 7@ CD -
# g £ s w € W T
w=aq €1 t@ravs AE, EB, @91 ED

<CAD =6 & T LABC =?

0
@6 (b 52 (@20 (4 30

The diagonals AC
clic quadrilateral
each other at the

and BD of g cy-
ABCD intersect

: point P. Then, it
is always true that

mwaﬁﬁqABCDﬁﬁﬁﬂAcam m2cm,6cmam3cm%lqﬁm
BD 35 PR ¥imdfa €1 § 71 fraven R T
i e 1‘[6—5'

(b) AP, CP = BP . Dp
(c) AP. BP = CP , pp g
(c) AP. CD. - AB . Cp (c) 65 (d) 3

B




144

146.

147,

148,

._Jes of same radius § ¢
we le:lzzcﬁrother at A and B.mli‘
iﬂéﬂjecs cm, then the distance
" the centre 18

;‘;;:?maﬁ 5 cm A ‘51"1 TH-TW F
%wsﬂmméluﬁ[\8=8
‘mi‘a}aEﬁ%?ﬁaﬁ{ﬁmﬁ?

;:.‘) 6 cm (b) 8 ecm

[;) 10 cm (d) 4 cm

AD is the chord of a circle with cen-
tre O and DOC is a }ine segment
orginating from a point D on the
d;cle and intersecting AB produced
at C such that BC = OD. If

,BCD=20", then sAOD=?

0@ T g6 F A AD ® a0 DOC
& rare € i D ¥ WO B, TE AB
2 fag ¢ R firea ¥ 71 BC = OD) TR
,BCD=20° %, T ,AOD=?

(@) 20° (b) 30° (c) 40° (d) 60°

5 In a circle of radius 17 cm, two

parallel chords of length 30 cm and
16 cm are drawn. If both chords
are on the same side of the centre.
then the distance between the
chords is
17 cm F1 911 99 | 1 AWARR ST 30
cm @91 16 cm TR St Gt w1 Ak
1, 90 P HR B TF AR A I Stens
% 9" g0 9@ w2
(a) 9 cm (b) 7 cm
(c) 23 cm (d) 11 cm
A square ABCD is inscribed in a
circle of 1 unit radius. Semicircles
are inscribed on each side of the
square. The area of the region
bounded by the four semi-circles
and the circle is
T 3f e & g9 § 9 ABCD @1
T ¥AF o R R G R TR AT
T T g S S T 2
(@ 1 sq. unit (b) 2 sq. unif
(¢) 1.5 sq. unit  (d) 2.5 sq. unip/
Two circles touch each other in
ternally. Their radii are 2 ¢gm and;
3 cm. The biggest chord of the
the

greater circle which4is putsl
il_'mer circle is of len :
T g4 TH-T H _‘&ix el H

(b) 3\/5 cm
@ 44/2 cm

(© 243 ¢

Two circles touch each other
externally. The distance between
their centre is 7 cm. If the radius
of one circle is 4 cm, then the
radius of the other circle is

Scanned by CamScanner

149,

150.

151.

153.

T - 2
ki 4 ;\K;Mrmmﬁvmmtn
q'd'c}ﬁﬁmn; 7”:;17{0 7 cm #1 ufy v
. cm ¢ ;?Nm "?ﬂ £
WP R
(a) 3.5 em (b) 3 cm
‘(:) 4 cm (d) 2 em
s B' and C are the three points on
& circle such that the angles
subtended by the chords AB and AC
at the centre O are 90° and 110°

respectively. /BACis equal to

A, BAA C W W AW g ¥ Wt oo 8,
T Sften AB wen AC BRI B 0 W A T
90° Tl 110°}1 ,BAC TW W2

(a)'70° (b) 80°  (c) 90° (d) 100°
N is the foot of the perpendicular
fr.om a point P of a circle with ra-
d?us 7 cm, on a diameter AB of the
circle. If the length of the chord

PB is 12 cm , the distance of the
point N from the point B is

7 cm 5 o 9@ W feera forg PR,
T T ™ T W UE N 21 afX sier PB

T 12cm @, A R NG
® W T H?
5 2
(a) 6= cm ) 12—%
7 7
(c) ; cm = cm
A, B, D f
circle, n

r points on a
intersect at a

at «BEC = 130° and
. ¢BAC is
firg 99 W feerm 31 AC T
D R B 59 R whrafa &R ¥,
¥6C = 130° W £ECD = 20° ¥
¢BAC=7?
(a) 120° (b} 90°

point E

() 100° (d) 110°

If two concentric circles are of ra-

dii 5 cm and 3 cm, then the le.ngth
of the chord of the larger circle

which touches the smaller
circle is : .

3 cm 41 Scm‘qﬁm@ﬁﬁgqﬁ
ﬁaﬁa@%a@ﬁa’@aﬁaﬁ,aﬁdﬁm
7t vl w82

(a) 6 cm (b) 7 cm

(c) 10 cm (d) 8 cm

is drawn in a
A chord 12 cm long 18
circle of diameter 20 cm. The
distance of the chord from the

centre is

20 cm P AT 70 ¥ 12 om F S

e = B @ T T A
& il (b) 6 cm
::} 1occm (d) 16 cm

154

155,

156.

. If the chord of a circle is equal to

the radius of the circle, then the
angle subtended by the chord on
centre is

ot 7w 3 fn, TwH) P 7 AT
N, @ e g Fz W Aaf@ F F@ FL
(a) 150° (b) 60° (c) 120" (d) 30°
In a right angled triangle, the
circumcentre of the triangle lies

awm fag 4, frqgw w1 wfeE fead
e 82
(a) inside the triangle

(b) outside t riangle

(c) on i of the hypotenuse
(d) ofl one

P and two points on a circle
with ce at O. R is a point on

th®minor arc of the circle, between
,ﬂpoints P and Q. The tangents
to

e circle at the points P and Q

@ea each other at the point S. If
«£PSQ = 20°, then £PRQ=7?

157.

158.

159.
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padr Q@ W fiig e & g R 02
99 % @y 9N W forg R fera 81 fag paan
O i T Tl Yen fag s W firerd
afs ,PSQ=20° %, @@ LPRQ=7?

(a) 80° (b) 200° (c) 160° (d) 100°
Two circles intersect at A and B, P
is a point on produced BA. PT and

PQ are tangents to the circles. The
relation of PT and PQ is

A g9 ATA B We=dfa € €1 Y@ BA
% fag P 9% sgE@ Tl PT 991 PQ Wi
e €1 PT e PQ % = ey Tfad {2
() PT = 2PQ  (b) PT < PQ

(c) PT > PQ (d) PT = PQ

The length of the tangent drawn to
a circle of radius 4 cm from a point

5 cm away from the centre of the
circle is

4 cm -9 91 51 & F% ¥ 5 cm R oo
g ¥ 99 W diai it vl Y 5 o
T HL

(@ 3 cm ) 443 cm

() 542 cm (d) 342 cm

From a point P, two tangents PA
and PJ are drawn to a circle with
centre O. If OP is equal to ‘diameter

of the circle, then s APB is

frdll Pfig @, O 3% 99 99 W pA Ty
PB QI weiand @ it 31 =k op o
@ W B TR R, T 2 APB 1WA iy
(a) 45°  (b) 90° (¢) 30° (q) 60°




The radii of two concentric circles

o 8 ¢m. AB is & diam-

are 13 cm and :
eter of the bigger circle and BD is a
ller circle touch-

tangent to the smaller )
ing it at D and the bigger circle at
E. Point A is joined to D The length
of AD is

Q sy g W AW 13 cm T S em
$1 AB ¥ §U ¥ WH BD R 0 ®
fag D W witel T e A QW
g w e 21 fag A® g DA

T AD Ht TR WA W2

(@) 20 cm (b) 19 cm

(c) 18 em (d) 17 em

PQ is a chord of length S cm of a
circle with centre O and radius S
cm. The tangents at P and Q
intersect at a point T. The length
of TP is

5 cm {50 @0 O 3= T g9 H S0 8
cm §1 g paw QW s T TR W,
fag T W WirsRkd g 31 TP R TR
FAH

161.

20 21
(@ 3~ cm (b) 73~ cm

10 15
(c) ?cm (d) 7 cm
. The maximum number of common
tangents drawn to two circles when
both the circles touch each other
externally is
T g R i T, s ¥ afus o e
1 TE T W, aih I g9 -GN A
WEd WY wW ¢
(a) 1 (b) 2 (€3 (@©o
I and O are respectively the in-
centre and circumcentre of a tri-
angle ABC. The line Al produced
intersects the circumcircle of

163.

AABC at the point D. If
cABC = x°, ¢BID _ y°

Z+x
¢BOD = 2°, then Y = ?

199 O AABC & 3iq: a1 WRa= 81
Al 9gdl T 91 AABC &

Dwmm%lﬁ C

¢BID = y° T . ,
LY
L

4
»

y =? 4 ;/‘%A K}
‘?‘ 1Y
(@) 3 % \;27’2 (d) 4
164. T.he ra ofy the- circumcircle of a
right ang iangle is 15 cm and
the radius %of its in- circle is 6 cm.

Find thg sides of the triangle,
fereit wehion et & g awn sfa: 39 9
= Fa9: 15 em @ 6 cm ¥ fvw
S 2
(a) 30, 40, 41

(b) 18, 24, 30
(c) 30, 24, 25

(d) 24, 36, 20

———

>

S
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165,

166.

167.

168.

170.

If the AABC is right angled u.t B,
find its circumradius if theosui‘e:.
AB and BC are 15 em and 20 cm
respectively. .
TR AABC, W O B = 90° Tl
AABC ® igE W T &, Gt

AB 7w BC R &g 15 cm G 20 em ¥
(a) 25 cm (b) 20 cm

(c) 15 em (d) 12.5 ecm

If the circumradius of an equilat-
eral triangle ABC be 8 cm, then the
height of the triangle is

forelt AT g @ ufega i e 8 em
R foE A S T7 w2

(@) 16 cm (b) 6 cm

(c) 8 cm (d) 12 em
Triangle POR circumscribes a circle
with centre O and radius rcm such
that <PQR= 90°. if PQ= 3 cm . QR
= 4 cm, then the value of
ris;

0@ A g9 @ TR &R B PQR B

af% g9 % BN r om @ 2POR = 90° 2

%

b \‘Q_’,‘
V\} () 40°  (b) 60° () 80° (d) 20°
2173. In triangle ABC, «BAC = 75°,

A PQ=3cm, QR=4 cm &, T r

T @ W2 Q\W
() 2 (b) 1.5 (c) 2.5 (d)

The radius of two concentriri{%cl

are 17.cm and 10 cm. A straight
line ABCD interséctsathe la;ker
circle at the point A\g
tersects the smallgr \
points B and C. If\BE="12 cm, then

the length of ﬁ“ (i!\]; m) is
QA ST R 17 cm T 10
cm ¥ TH F@RABCD , 2 91 &I fag A
il 1 B Jd F g B C W
GIRRRG.FRA 21 IR BC= 12cm ?, T
& aré 9. o i w2
a20 (b)) 24 () 30 (d) 34
. P dnd Q are centre of two circles

with radii 9 cm and 2 cm respec-
tively, where PQ =17 cm, R is the
centre of another circle of radius x
cm, which touches each of the
above two circles externally. If

£PRQ = 90°, then the value of x is
PT Q, 9 cm TN 2 cm 5 &t ol &
% 81 W& PQ = 17 cm A R , T a1t
xcmﬁ@!ﬁﬁﬁﬁaﬂiﬁ?%,ﬁﬁﬁ
H A ® o} W @ R i
£PRQ=90° ¥, T x &l TH T FL?

(a) 4 cm (b) 6 cm

() 7 cm (d) 8 em

Internal bisectors of angles /B and
<C of a triangle ABC meet at O. If
£4BAC = 80°, then the value of
<BOC is

Wizard of Maths - Rakesh Yadav Sir

AABC & ® W /B qeq (€ R w
femrorr forg O W frem ¥) o Tj‘
<8ac

= 80° ¥, ™ .BOC W §y ™
() 120° (B) 140" (0) 1108 (g yoe
Two chords AB, CD of g ¢ 1300

; rele i
centre O intersect each Olhelre With
at p

¢ADP = 23° and /ApC= 700, they
the «BCD is

0% T 7 A 2 HMAD, O o
T forg P wiesdfa w0 §1 4

=

23° T £LAPC =n;70° & /BCp
?45“ s, (b) f;S\ (©) 57 () 67°
Ina A?\pc%\‘zszc =2:3.4
A liné ﬁ(’.“ls\“:clr‘mvn || to AB, then
theACDis :

,JEC 4, sA:«B:sC =2:3:4,

&
~

( \\%,n)q?%%@ CD, AB & IR e T4,
¥4 2 ACD % TR A F

171.

172.

¢ABC = 45°, BC is produced to D.

xO
If £ACD = x, then 3/0 of 60° is

AABC ¥, £/BAC=T5°, £ABC =45',
BCc W1 D a9 e man 3Af

¢ACD = x° &, 76 60°F g%mﬁ?
(a) 30° (b) 48° (c) 15° (d) 24°
In a AABC , AB = AC and BA is
produced to D such that AC = AD.
Then the £BCDis

AABC ¥, AB=AC T BA® DT
TS T 9 AC = ADI ABCD F
A w2

(a) 100° (b) 60° (c) 80° (d) 90°
In AABC, sA+zB= 65
¢B+ ,C= 140°, then find 4B
AABC W,,A+/B= 65, tB+C
- 140° §, 99 B WA A B

(a) 40° (b) 25° (c) 35° (d) 20’
In a triangle ABC, <A = 90° LC*
he valué

174.

175.

176.
55°, ZB 1 B—E what is t
of «BAD?

A ABC ¥, 2A=90° £€=5%
AD L BC ¢ W@ «BAD ®
T L2

(a) 35° (C) 45° (d) 55°

5d

(b) 60°

\



cirevineentre ui oy

RTRS pe the
e and  ~QONR « LG,

wiangle FOR
,OPR= 2
SPRQ is
A PQR O B dREs @ qen
JQOR = 1107 OPR = 95/,
JPRQ =1 ur &7

Bke

(a‘ (\5' (l.') s0° (\‘) (S 1N (d) (’\““
1 the followitg figure, AB {8 the
giameter of @ vircle whose centie is

o. It ~AOE = 180% . DAQ = 5I*
then the measuie of L CBIE (s ¢
pR% @@ T 0, AB §T W = )y
JAOE = 150° . DAO = 51° R}, uw
JCBE 1 WH 9 &7

78

Q

@ 115 (b) 110° () 108° (d) 120°
179, In a triangle ABC , BC Is produced

to D so that CD = AC. I 2 BAD =
111° and 2ACB = 80° then the
measure of #ABC s

A ABC ¥, BC® D & Sgrt T, wen

CD = AC afk ,BAD = 111° Tl
¢ACB = 80° %, @@ ,ABC ! WM
w7

(@) 31°  (b) 33° (c) 35° (d) 29°

180.In AABC, ¢A+¢B = 145° and

¢C+2,B = 180°. State which'
of the follwing relations is true 7

A ABC'@',KA + 2B = 145°
¢C+2/B =180° ?7@ H adt
FUT {@ w7

(a) CA = AB

(¢) BC < AB

< AB
(ARCAY AB
)ee angles of

“/B =15 «B~
¢A, 2B and

181, <A, /B,

a trian g‘le. I

et g = W 2A, ¢B, 2C #
® A-,B = 15%, 2B -+C = 30°
YW 4, .8 T 4 WA TAE

(H) 800'600’400 (b) 709,500’600
(c) 80°,65°,35°  (d) 8O°, 55°, 45°

L
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. then the measire ot

__Wiza

PR AU widdog ol

ity Ff) !

:;ll‘lbh v(llhl-“'l‘“!f ”l(:”“”f’;” ('/\'/“:‘r“
1 S i I o i, the
BA 1 Gty Gy = it Hu-‘t;

o et 0 it 5
t "h“ | 1ml‘ /\h - ‘ : ‘. .
‘f-.h (‘“h (il, " ! (”h H(

FE U 3 e #, o i H
it et q A i HIA

] 3.8 e
| (©) Ab eny
THA 1 s g POl o |

(1 4.6 e
() 1.5 e
' he side HE of #
tHitgle ARC stiel (af Al | HO

5 s ," Boitt ol AD for which
A L5 = 6, qf ZHAD = 30" and
et ACH = 6, 1an (Dbt then
rA(ﬂu =

A ABC 1 st 196 4 Bt 1 gy wsr
B AD L OE Ab fife 15 gtr ymie
8 f ALt 1D = Bl | o/ OAD =
JO° T tan £ACH = 6. tan DI P,

W LACH =7

(@) 30*  (b) 48*  (¢) 60° (d) 14
184, The perpendiculars drawn from Ve
vertices to the opposite sidgs Yo

trlangle, meot at the point Wwhose
name ls A

feralt fovsgar = it 4 Mt\@ﬁﬂ ot
oS 1 oAl w @R g 2

(a) Incentre (b) pircumeentre
orthocentre
ic =6 +ACD and

(¢) centgold
185, If In AAF
SACH , then <ABC= 7
Y, <ADC = 5 <ACH T
s 3 LACH & LABC=?
(@130 (b) BO* () 100 (d) 1207
&6. The exterior angles obtained on

producing the base BC of a rrlmpjc
ABC In both ways are 120°and 105°,

then the vertical £A of the triangle
{s measure

A ABC  1MTC BC % I A il 7
7r 1200 A4 105° 81 £A 1 WA T

w7 ,
(a) 36° (b) 40°  (c) 45° (d)
187. If AD, BE and CF are medians of
AABC , then which one of the
following statements is corrccf ? ‘
AD, BE a1 CF, AABC 1 wfer
#) 7@ T F TR
(a) (AD * BE +CF) <AB + BC + CA
(b) AD + BE +CF > AB + BC + CA
(c)AD+BE+CF-AB+BC+CA

(d) AD +BE + CF = J2 (AB+BC+CA)

_

A3
55

kK.

184,

I /*/‘/1(" ; Hhe IS Vsab btk s
ut KB and RO ekt P
el 2 HAL = 07 Fiik ks it e 7
JHIC &

A KRG H, (RRC T L RCH #
g ok = | e 1R
CAAC = 71/ I 1 HE 3 T
() 165 (i 115 (9 ‘,/“F’? (@) ‘,5/;
(nside a triange ARG, & 8ETEERE
fiie: paraliel 1 B0 intersets A 200

KC ub the peint # #pd
reapectively, B A8 = 5 Fh, trern
Fip s BC B

A KEC /\;’ R
o 1 () 7 ot A R

AC HTH,
b ~;,-’;)4: #, 7 T
(a1 ¢ & KR 4

Pl ) (42 : %

AL, DEAC, 1) &0t Ko 556

166G A1
@n pointe on AV and CF respes-
ively. If A8 = 10 cm and A5 = 4

101,

192,

193,

rd of Maths - Rakesh Yadav Sir

cin, then K : CE s

AAGC H, DE( AC , DR E, R
AV a1 T 7 f7 71 % AR =10 om
A AD = 4 cm #, 7R PR CE %

(a) 208 by 2:5

() &2 (d) 2 : 2

for a triange ARC, D and £ zre two
painits on AF and AC such thet L0

| 1
= — AB, AR = — AC, I BC = 12
4 4

cm, then DF is
AABC W, ABTR AC T 7 fa7, 7o

1
£ga wan ¥, m OAD = ;lﬁ.ﬁ,kE’“‘

1 s <
1 AC | 7% BC = 12 e %, 7 DE %1

(a) 5 cm (b) 4 cm
(¢) 3 cm (dy 6 cm
If I be the incentre of A ABC znd

£ B=70" and £ C=50°, then the
magnitude of £ BIC is

iz 1, A ABCHI 97 %% 791 4 B=70p
T £ C=50"41 T L BICH B 77 27 7

(a) 130° (b} 60°  (c) 120F (d) 105"
For a triangle ABC, D, E, F are the

mid - points of its sides, if A ABRC
s 24 sq. units then A DEF is

A ABC A D, E30 P ymidl % woy iz
#1 9% A ABC = 24 7 Afp 7:
A DEF = ?

(a) 4 sq. units

() 6 sq, unir,
(c) & sq. units $q. units

(d) 12 sq. uniss

e
i

o

T




194. The angle in a semi-circle is
afge | T e R

(a) a reflex angle

(b) an obtuse angle

(c) an acute angle

(d) a right angle

Angle between the internal bisec-
tors of two angles of a triangle «B

195.

and ~C is120° then £A is
frdt £, 3B U LB M LC W
QURRISTE gR A B9 120° 1T LA

1 WA 7@ H?
(a) 20° (b) 30° (c) 60° (d) 90°
196. The angles of a triangle are in the

ratio 2 : 3 : 7. The measure of the
smallest angle is

forelt g @ 0 T o 2: 3: 7 R
[ B2 Hor F AR T4 B2

(a) 30° (b) 60° (c) 45° (d) 90°
Ina AABC,AB=BC,/B = x" and
zA = (2x-20)°, Then «B is
AABC ¥, AB = BC, /B = x* @
A= (26200 %, 7@ /BRI

(a) 54° (b) 30° (c) 40° (d) 44°
If AD is the median of the traingle

ABC and G be the centroid, then
the ratio of AG : AD is

AABC %t wifeza AD @ fag G,
AABC # &%5% &, @@ AG : AD H

A 81

@1:3 (B)2:1 ()3:2(d)2:3
Two supplementary angles are in
the ratio 2 : 3. The angles are

2} GO IV I 2 ¢ 321 T RO
F A R

(a) 33°,57° (b) 66°, 114°

(c) 72°, 108° (d) 36°, 54°

In a triangle ABC, median is AD
and centroid is O, AO = 10 cm. The
length of OD ( in cm ) is

AABC d, AD wifeas a1 O

AO = 10 cm &1 OD ¥ &=r IW
(a) 6 (b) 4 ©5 (3.3

%tre,
cen-

triangle

, aftw=, 3fa:

197.

198.

199.

200.

Year : 201
In a triangle, i
circumcentre, incept
troid coincide, thel t

201.

(d) right arfgled

If ABC is an equilateral triangle and
P, Q, R respectively denote the
middle points of AB, BC, CA, then
AABC T gwag faet & un fag P, Q,
R 9 AB, BC, CA @ W= fag €, @

202,
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(a) PQR must be an equilat.eral
triangle

(b) PQ+ QR = PqR+AB

(c) PQ+QR = PR+2AB

(d) PQR must be a right angled

Let ABC be an equilateral triangle and

AX, BY,CZ be the altitude. Then the

right statement out of the four given

responses is

AABC T T s € 7 AX, BY,
7 viderm #1 = forpedt # @ W fohed
| A

(a) AX = BY = CZ

(b) AX == BY =CZ

(c) AX = BY = CZ

(d) AX == BY =+ cZ

ABC is an equilateral triangle and
CD is the internal bisector of «C.
If DC is produced to E such that

AC = CE, then /CAE is equal to
A ABC T Targ faed § aa1 CD 1
,C % Fidf g 81 3k DCH
% =ar T fF AC=CE®, T £C

& IM B
(@) 45° (b) 75° (c) 30° @
G is the centroid of the equilateral

AABC. IfAB=1 n lefigth
of AG is

G, g9 s
AB = 104,cm W@

53

203.

204.

205.

B BEF 21 A
i e

1043

() & (b) cm

cm

(d) 104/3 cm

206. TRe radius of the incircle of the
eqHlilateral triangle having each
side 6 cm is

6 cm 9 AT WHATE fA9e & 1= 99 6t
forem 9@ W2

() 24/3 cm () J3 cm

(c) 5\/5 cm (d) 2 cm

If the three medians of a triangle are
same, then the triangle is

% Rt Prger =Y mitawst it ovag SR
&, 7@ fg g

(a) equilateral (b) isosceles

(c) right- angled (d) obtuse-angle
If A FGH is isosceles and FG < 3
cm, GH = 8 cm, then of the
following the true relation is.

A FGH & afgerg f19< § 941 FG <3
cm, GH =8 cm %, 7@ Tl o W@ *¢ ?
(a) GH = FH (b) GF = GH

(c) FH > GH (d) GH < GF

207.

208.

209.

210.

211.

212.

213.

214.

215.
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If angle bisector of a trian
the (')ppositc side, then W;; bi“ec’(s
of triangle is it ? o type
fert Tt 1 1 Ty,
qen F A UPN R A #,
favgst g |
(a) Right angled
(b) Equilateral
(c) Isosceles or equilatera]
(d) Isosceles
If two angles of a tri
and 38°, ltghen the tgzggz ?;e v
oz fordt fAs & < Fm 210 384
7 st 21 "
(a) Right- anglI&d triangle

e

(b) Acute, ang d triangle

(c) Obtuse-angled triangle
(d) Isggaelé}%r angle
In A#BG,,Y

T o
T W

ZC is an obtuSe

angle. e bisectors of the exterio
les at¢A and B meet

C and AC produced at D and g

ctively. If AB = AD = BE, then

ACB =
A ABC ¥, 2C afus & i 5m p

3t B @ A FAfGWIS, Y51 BC AW AC
F fag D91 E W e 12 AB = AD

=BE®, @@ LACB=?
(a) 105° (b) 108° (c) 110° (d) 135°
A man goes 24 m due west and then
10 m due north. Then the distance
of him from the starting point is
T wfqa dfvea fRam o 24 mtr. 391 3N
feg ¥ 10 mtr. ST 81 IHHY FRAF fag
R 7 g @ HL2

(@) 17 m (b) 26 m

(c) 28 m (d) 34 m

If the measures of the sides of tri-
angle are (- 1), (x*+1) and 2x cm,
then the triangle would be

faret fase A Y (- 1), (+1) ™
2x cm &, @@ FIye 2

(@) equilateral

(b) acute - angled

(c) right-angled

(d) isosceles '

If each angle of a triangle is less
than the sum of the other two, then
the triangle is 2
e Freh Foregel 1 S e, 3 9

@ 9 @ %0 3, 7@ faoe 2

(a) obtuse angled

(b) Acute or equilateral

(c) acute angled

(d) equilateral .
ABC is a right- angled triang® . .
AB = 6 cm and BC = 8 cm: A QL
with centre O has been inscr!
inside AABC . The radius of %
circle is .6
fort R et AABC ® AB”
cm @ BC = 8 cm §1 0 #% ’q';“m
AABC & =g g@ien Sl HER
a2

(2 1 cm (b)2cm (d) 3cm

gle with

(@4




r

216+

2

nT.

218.

219.

220.

i the sides of & right angled tri-

o are three consecutive
ﬁ"[igers. then the length of the
;rxlxmalicst si‘de is

e, fed auein e wt
; §) g B S A HX?

(b) 2 units

(d) S units

n APOR S and T are point on
sides PR and PQ respectively such
that <POR= ¢PST, If PT = 5 cm,
g =3 cm and TQ = 3 cm, then
length of SR is

APOR , Y1 PRAUT PQ W I forg s e

1% f& «POR= (PST| @ PT =5

cm, PS= 3 cm T TQ=3cm?, W

R T T T 2

(a) 5 cm (b) 6 cm
31 41

() 3 em (d) 3 cm

In AABC, two points D and E are
taken on the lines AB and BC
respectvely in such a way that AC

is parallel to DE. Then AABC

and ADBE are

AABCH, f8g D @1 E, %S AB @1 BC
RMIFR & , 7F o1 AC, DE & HHFIRR

# 9 f"e AABC 3R ADBE ®!

(a) similar only If D lies outside the
line segment AB

(b) congruent only If D lies out side
the line segment AB

(c) always similar

(d) always congruent

If the opposite sides of a quadrilat-

eral and also its diagonals are equal,

then each of the angles of the quad-

rilateral is

et Sl it Faroda gend qen fareRol SRR

1 9 e = ASE
(@) 90° (b) 120° (c) 100° (d) 60°

Among the angles 30°, 36°, 45°,5Q
one angles cannot be an extefior
angle of a regular polygon.”’
angle is

it agqw & 1w 30°, 36°, 45° A

50° 4 § P W T HOT AEd

THA 21 F07 B

(a) 30° (b) 36° (C) y o '@ 0°
21, an ir}terior angle o‘. b ar poly-

221

terior angle.

fWdides of the

\

' . 3, 3 aed H H

ST %‘1 ¥ e T

@14 (% (o 12 (d) 18

In a reguldy polygon, if one of its

Internal angle is greater than the

External angle by 132°, then the

Number of sides of the polygon is
T = iR Hivn, ITH T P

¥ 132° iy §) wge H1 GO T HA?

@14 (12 (15 (d) 16

Scanned by CamScanner

223.

224,

225.

226.

229.

If t}_xe ratio of an external angle and
an Internal angle of g regular poly-

¢ 17, then the numb
¢ ; er of
sides of the regular polygon is °

ot sgym = WA T Ak Hoy o
SR 1: 17 R1 T S 1 oMY 0 62
E:‘)agg ) (b) 18 (c) 36 (d) 12

' 1s a cyclic quadrilateral. The
side AB is extended to E in such a

way that BE = BC, If 4ADC = 70° )
<BAD = 95°, then /DCE is equal to
ABCD T w13 =g4¥ 21 {1 ABH E
T T YR 51 T % BE = BC @11 9%
2ADC= 70° , /BAD = 95° %, T4
£DCE 1 W 1 $?

(a) 140° (b) 120° (¢) 165° (d) 110°
In a cyclic quadrilateral
ZA+2£C=¢B+4D =7

D C

fodt 9w wIqs ? sA+s

/B+/D=7?
(@) 270° (b) 360°

(c) 90° *

ABCD T&

.yﬁ"TII
Y b)4:3
d4a:5

they value of Z/ABC is

& =1a g ABCD ® 7l AD = RI
afx sDAC=55° ®, T LABC

@ 55° (b)35° (c) 145° (d) 125°

| The angle subtended by a chord at

its centre is 60°%, then ratio between
chord and radius is

wsﬁmgm,q—ﬂﬁﬁamafaﬁmm
60° 31 i qu R 1 ST F H
(@ 1:2 . (b)1:1

(C)\/_z—:l (d2:1

Each of the circles of equal radii

- with centres A and B pass through

the centre of one another circle they

cut at C and D then «DBC is
equal to '
ﬁmﬁmﬁaﬁamAan%aaﬁ

_q@t i farg CTM DR qfa%éﬁm

Eﬁ'ﬁmﬁ—{ﬂi%aﬁaﬁm%l
pBC ®1 A T HQ

(2) 60° (b) 100° (c) 120° (d) 140°

0 ¢}
M L AB €, afs AB =
A B 0M=2\/1_1_cm"3, 9 gu w1 e

230. For a triangle circumcentre lies on

one of its sides. The triangle is

ﬁwmﬁgammmaﬁgwmf@m%l
e 21

(a) right angled
(b) obtused angled
(c) isosceles
(d) equilateral

231. The three equal circles touch each
other externally. If the centres qf these
circles are A, B, C, then ABC is
A SR I TR ) T W €A
I & B= A, B C®, T A ABC 2
(a) a right angle triangle
(b) an equilate triangle
(c) an isd8c triangle

t gle i

of the circle, AB 1s

e circle, OM L AB . If

AB.= 20¥ém, oM = 2411 cm, then
s of the circle is
a1 3% 2, AB g9 F ST T,

20 cm,

A B2
() 15 cm (b) 12 cm
(c) 10 cm (d) 11 cm

233. In AABC, Z<ABC=70°, «BCA =
40°, O is the point of intersection
of the perpendicular bisectors of the

sides, then the angle «BOC is

AABC ®, ABC=70°, <BCA=

40° 7 fog O, I0 & N-AEH H

wfresfa fag ?1 99 ,BOC ®

(a) 100° (b) 120° (c) 130° (d) 140°
234. A, B, C are three points on the

circumference of a circle and if

AB=AC=5J2cm and /BAC =
90°, find the radius.

frdt @ R iy wd= fag A, Baen ¢

1 Ak ABp_-ac-sfocm @
Z/BAC = 90° %, 7a f5=a 9 #1?
(a) 10 cm (b) 5 cm
(c) 20 cm (d) 15 em
235. In the given figure, /ONY =
50°and £OMY =15°. Then the value
of the /MON is
feg T o |/, ony = 500 sk

£OMY =15° %, T ,MON w1 m?

N
(b) 40°

(a) 30° (C) 200 (d) 70°

: d of Maths - Rakesh Yadav Sir\h
wizard of @,
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236. Two chords of lengths a metre and
b metre subtend angles 60° and 90"
at the centre of the cirele
respectively. Which of the
following is true ?
fart g 1 R SR, DR W60 ©wa Y07
1w otaftn w1 e wor 9w L

@ b= \/':Zn (1) a = y2b

(¢) a =2b (@) b = 2a

Two chords AB and CD of u circle
with centre O, intersect each other
at P. If zA0D = 100° and 2BOC =
70°, then the value of APCis

o &% wa gu | W sfanf AB W CD
-t W fag P whrfa w1
LAOD= 100° T ,BOC = 70° ¥, W

£APC ¥R TR H1?
(a) 80° (b) 75° (c) 85° (d) 95°

. Chords AC and BD of a circle with
centre O intersect at right angles

at E. If z0AB= 25°, then the value
of «EBCis

O ®% At gu ® ¥ e AC T BD
- F g E W wwso | R
T §17R L0AB = 25°, ¥ <EBC ¥
(@) 30° (b) 25° (c) 20° (d) 15°
Two circles touch externally at P.

QR is a common tangent of the
circles touching the circles at Q and

R. Then measure of ZQPR is
A 99 - A fag PR o FW ¥
QR 3 = TwafTe vl Y §, i R W

T fag Q@ RW ol &4 }1 ZQPR

1 A 76 B2
{a) 120° (b) 60° (c) 90° (d) 45°
Two circles intersect each other at
the points A and B. A straight line
parallel to AB intersects the circles
at C, D, Eand F. If CD = 4.5 cm,
then the measure of EF is
A 90 - A TRATNBW
F@ §1 AB 3 TR @ Fal H C,
T F W yhresfa #@ ¥ afk CD = 4,
cm, 7@ EF %! 9R 70 7
(a) 1.50 cm (b),2.25
(c) 4.50 cm ( X
Two circles C, an 2
other internally atyP.
he circles C,
g 1 respectively.
If «.BDC 0

237.

239.

240.

241.

then the value

of /ABRYs, to
QA Fu C, TN, TH-TR F AR &9
faﬁpﬂﬂhﬁﬂﬁﬁ’lﬁWPCAam

PDBTHE C, % C, D74 C, M A, BW
foerht 1 a® ,BDC = 120° &, ™
/ABP F WA I@ F?

(a) 60° (b) 80° () 100° (d) 120°
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24,

243,

244,

() 16,0 cin ) ek oy
() 118 e W17 e
g, The datunee betwesn fhe
uf two chicles with radii Yy
N 4 ‘ '
16 am w48 e The lehipty ’r’,t“;';”
weinenl of the tigten| heeh ay .
them 1u i
Yo Al 16 o R LT ]
ot o) A0 Ot om BE ST o) 4y ,,z;
et e 'Y l
(") A o

fwo clrelen hinving paddth 1 unlta
interaect ench othier (e ruch s wiy
that each of them JHAHAER throtgh
the centre of the olther. Then the
fength of thely common chord s

¢ Fawen e A HE U UL qpm‘::
i, whiredfi whtd ) s sanfies siAl )

o e il
(1) Jur units
(¢) Jgr units

“‘“@

() Jur units

() v units () 286 om

Pwo clreles with centred A nnd I K0

of radil B cm and 3 em rmqwuﬂvnly (©) 2 ) 12 o

touch ench other nternally, 11 the ! .

perpendicular Dlsector of AlY meels 240, BT 14 & I‘Hn;{ﬁéo 0 the elrcls of 1

the bigger elrele In P and ), then
the value ol PQ v '
& em, 3 om fn diel wil A, 13 g A
) gt ug-gud ) aifah s 1) ol A
81 AB 1 el w8 g e e
p et ¢ ue fireran 8, W pQ #7

(@) o em (b) 26 cm

() ay6 cm () 46 cm
The length of a tangenl from

o ?N*infh%f”i\t“”"” of the cirgle,
it //?HIE:A'E,“x"bL" then the value of
2800 16

r’i‘f . 1,4.1 Pyt ‘U{Ui ey tray (8]} ’r’ 3

/,\% J
"% (a) 40" (b) 60°  (c) BO* (d) 1007
I8, If PA and PB are two tangents 10 g

clrele with centre O such thai
JAOB = 1107, then AP I8
O i A T e d vl A e e,
g A0B = 110" %, W LAPB=?
(m) 90" (b) 70" (e) 60 (d) 55°

, ABC is an equilateral triangle and
O is its circumeentre, then the

o _
(jm bt o RPT = 60° B0 g

external point to a clrele Is

unit. If radius of the clrgle yn
units, then the distance oflthe
point from the cirgle Iy

foreh fifg W 7w ug Pl dat )
T 53 AfR ?&‘qﬁ: g P 5

TITR

cm B, T fir g Al T w2
(@) 5 unjits z\? (B 15 units 4BOC i _
() - 5 unith wd(d) - 15 units g, P A ABCH Wi O B
245. Two circles:ave) of radii 7 cm and 2 "
cm thedl (?f:prcs being 13cm apart., ~BOC = ?
n ({w ngth of dircct common () 100° (b) 110° (c) 120" (d) 130’
,ﬂﬁu gentyto the circles between the 252, If the angles of a triangle ABC are

24

247,

—Wizard of Maths - Rakesh Yadav Sir

. The radius of a circle is 6 cm. The

in the ratio 2 : 3 ¢ 1, then the angles

ggiﬁtsv,of contact is
k (A, ¢B and £Care

7 cm @ 2 cm frn A 7R B HH

13¢m 58 W fer 1 s vl o il TS
A T L2 AABC W o g 2:3: 1%
(a) 12 cm (b) 15 cm /A, «B WM .C

(C) 10 cm (d) 5 cm (a) /A= 60,,’ /B= 90,,, oL 30

(b) <A = 40°, ,B= 120°, £C * 20°

(©) zA=20°, «B= 60", <«C* 60’
(d) zA=45°, .B=90° LC = 45

distance of a point lying outside the
circle from the centre is 10 cm. The
length of the tangent drawn from
the outside point to the circle is

6cmﬁmﬂlﬁﬁﬂ‘?wmﬁﬂﬂﬁw 253. In a AABC AA“'ZB < 115',
A 10 cm ¥ forg ¥ 99 W wiih R . alue of ZA-
Y T T ? LA+ £C = 96°. Find the value of A
(@) 5 cm (b) 6 cm AABC B sA+«B * 1]‘8.
() 7 cm (d) 8 cm A4 0= 06", ZA Eﬁl‘qﬂﬂm"ﬁ?

DE is a tangent to the circumcircle

(] o o° d) 340
of AABCat the verex A such that (ay.86 ft () 3 ( 2 4

. AB

254. In AABC, if AD L BC, ther
DE || BC. If AB = 17 cm, then the CD? is equal to
length of AC is equal to 9 S BC 4@ ABH
AABC % i w0 feert farg A R wlish AAB; A AD LAE

cp? 2l

T v Y@ DE %1 78 ¥R # 75 DE || BC (@) 28D (t) BDHAC
I AB = 17 cm, T@ AC %! g 7 hi? (c) 2 AC? (d) None of thes¢




AABC % W B @R ¢ 5 s

! =140° i 26 dF the mid points of
+’ZB+AC"1 , then /B is . 6. If D, E an are 2
955+ At TafgSE iy 1w e §) Rk T = BC, CA and AB respectively of the
1 ZA AABC. The ratio of area of the
2C =140° —_ 3 d area of the
: At —2—zB+ ,%, W™ B R 5 +X %, T X F1AM B parallelogram DEFB an

trapezium CAFD is:

) 50° (b) 80° () 40° (d) 60° 262 () 60° () 30° (o) 90° (d) 45° AABC § BC, CA @ AB % #ea fag
18 triangle @C a straight line par- . 11: tree of height ‘h’ metres is bro- FFR: D, B FE a}-gqi-a(—q'gsjaDEFB
2 allel to BC intersects AB and AC at ken by a strom in such a way that 3 S 9 THes *{{GICAFD% gawd
p and E respectively. If AB = 2AD, its top touches the ground at a dis- bl . =
then DE : BC is , tﬁnce of ‘¢ metres from its foot. Find 1 T I 5.4
A ABC ki WBC% AR 3@l ‘ZFNAB Le‘; h(‘flﬁil:ea; vzhigh the tree is bro- (@) 1:2 oy = 1
 ACH T DT ER srfin e ) Th h e o1 g5 " (©1:3 (@2:3
3 R & TP 5 %D S=E 9
4 AB =2 AD ¥,7 DE : BC &7 T WER 2 1% 95 981 % 7% W xfiw W (SSC CGL 19%8-2015, M;:mi!;a:
a)2:3 (b)2:1 WW%IH‘Ewﬁ° ¢ ] 267. If the measurey f three'ang.es (_’
:c) 1:2 (d1:3 et (h>x) W H S W 78 triangle &Q’if}\_the ratio 2: 3 : 5,

then the triangle is:

,Dand E are t i , : . "
)57, Ina AABC e two points B o - ﬁt%a&l%ﬁJm F Tl I
on AB and AC respectively such () h™ +x i R 5‘.’%"% o 1
. ——— metre 13
that DE| BC . DE bisects the 2h (a)v,.Obtu\‘é"é/:mgle (atferer ioT T30
AABCin two equal areas. Then the n2 _ 2 /%, (b) Equilateral (FHETE o)
ratio BD : AB is (b) o metre , %.(c) Right angled (wro fge)
AABC ¥ ST ABTH ACW R fag D @@) Isosceles (THIGETE) torg)
fF D 2 2 ws (SSC CGL 16-8-2015,‘Morn ng_
™ ET TR § E." Bcv’ DE, © h™ +x metre 8. If the three angles of a triangle are:
AABC ® T TR wm # dedt 3 4h % 0 5 0
: 6x X
=D 3 A h2 2 wrisy, (6] ana (Zv0)
. d :
@ 1:42 (b) 1:2 @ 4h meter ) then the traingle is :

O (2-1):V2 @ 2:1

258.In a AABC, If 2/A =34B=6«£C,
value of /Bis
AABC §, 9% 2,A=3/B=6.C T,

263. The side BC of a/{{i 'lee ABC is

extended to D. If 2}4\__(3:\‘%)%:\:\.)120"and
R
S
¢<ABC = l ZCI?B ,“thén the value of
5 I ;

-
S

/ABC 184

o Tk e ® A S (x+15)°,
0 0
[Es’im) S (335+30J & e ¥

(a) isosceles (FHIGATE)
(b) equilateral (FHIg)

/B FAAR A ABCHI ﬁ%cﬁ fog D % e (c) right angled (F9HITT)
(@ 60° (b) 30° (o) 45° (d) 90° ( j:?‘i’* (d) scalene (Fm =TE)

259. If in a triangle ABC, D and E are
on the sides AB and AC, such that,

wizard

- 1
T} Ay JACD = 120° T <ABC =2

%

YCAF®, @@ LABC 1 @ B2

(SSC CGL 16-8-2015, Morning)

- 269. G is the centroid of A ABC. The
) S o 60° (d) 20° medians AD and BE intersect at
DE i (a)$80°  (b) 40° (o) .
is parallel to BC and BD 5 2\ In' AABC, D is the mid-point of BC. rlgé'xtB gngles. If the lengths of AD
. o ¥ i . o op B 9 cm and 12 cm respec-
If AC = 4 cm, then AE is Length AD is 27 cm. N is a point in ey i -+ respe
A Ane # o acace A(IED iuch that the length of DN is 12 tively; thep th? length of AB (in cm) is?
G AW _ABH ; cm. The distance of N from the cen- A ABCH G 5% 21 AD 911 BE afezrrd
™ EW 51 € fF DE, BC# troid of AABCIs equal to T T H RV TR B A AD
: AD 3 AABC #, D 9o BC % #eA farg 1 AD BE 1 Wt smwi: 9 Al 7en 1297, &1
3 BD 5 1 @@ 27cm 81 fag N, AD ® W ?)Aiﬁa;?fz)mﬁ(' )@ﬂ‘ﬁ)
: a c) 10.5(d) 9.5
; T AE 3 &7 & fF DN = 12 cm %I.7 AABC® (SSC CGL 16-8-2015, Morning)
(@) 1.5 cm FsH 9 g N EIRUEL Eat 270. Among the equations
g 918 em () 3 cm ip) & o i Bkt
| 0. The Bkt ofltndhangle between () 9 cm (d) 15 em 2y-13 = (?; 2x -3y =0,
the internal\ 3ndtextenal bisectors 265. Internal bisectors of «Qand «R of The equation of the straight line
| of an 4B : .  at O. 1f ZLROQ = 96° passing through origin is:
ot o o i e APORniemsect 20 YTy 20,54 -,
3 \ e then the value of <RPQis : 2y-13 = 0,2x- 3y =0
) mly 4 own (RF s @ Yo ¥ @ R W Yan g fg
2%, W60 (b)70° () 80° (d) 90° APQR # £Q o o 31
" € internal bisectors of the angles FAfgATSTE O T TP A l @2y-13=0 (B)x+2y+9=0
an i . o = =
d C of a triangle ABC meet at I JROQ = 96 T Z(I)QP;Q@ ;(>d] 6° (©)2x-3y=0 (dSx-4=0
122 (b)24° ¢
€ omio = 22 ¢ thion X ds el 0 a)(ssc CGL 16-8-2015, Morning) (SSC CGL 16-8-2015, Morning)
2 ’ -

by
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271,

272.

273.

274.

275.

I

The area of the triangle formed by
the graphs of the equations x = 0,
ax+ 3y = Gand x+ y=3is; x =
().’.?x+3y==63ﬁt x+y=3

2 e A e AR T g

(a) 1 sq. unit (b) 3. sq. units

1 1 ;
(© 45 sq. units(d) 1"2' sq. units

(ssC CGL 16-8-2015, Morning)
In AABC, D and E are two mid
points of sides AB and AC respec-
tively. If ¢,BAC= 60° and ¢ABC=
65° then /CEDis:

AABCH AB 3R AC yenatl & R weA
fiig ¥ D 3R E §1 3R £BAC = 60°
st <ABC = 65° %, M LCED =?

(a) 125° (b) 75° (c) 105° (d) 130°

(SSC CGL 16-8-2015, Evening)

Given that : AABC -~ APQR, if

area (APQR) 256
wrea (aAB0) " 241
then AC is equal to?

AABC - APOQR , fem w1 #, afk

and PR = 12 cm,

wwaAPQR 256 .
v 441% sk PR = 12 9.

£ @ AC fru® TU=t Bm?
() 1242 cm (b) 15.5 cm
(c) 16 cm (d) 15.75 cm

(S8SC CGL 16-8-2015, Evening)
The internal angle bisectors of the

sBand «C of the AABC intersect
at O. If «A = 100°, then the Me

sure of /,BOCis:

AABCH B3t .C#

aReE - B Q #
& 2A = 100°%, I
() 110° (b) 140° (RI3W (d) 120°

Evening)

APQR ¥ O 3fa % § 3t LQPR =50°
2, @ 2QOR # WY 7 H

(8) 125° (b) 100° (c) 130° (d) 115°
(SSC CGL 16-8-2015, Evening)
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276.

277.

278.

280.

O is the circumcentre of AABC. If

/BAC= 85°, «BCA = 75°, the

,OACis equal to:

A ABC ¥ O Uf@= #1348 /BAC = 85°

sk sBoa =75 %, @ coacTEER

U BM?

(@) 70° (b) 60° (c) 50° (d) 40°
(SSC CGL 16-8-2015, Evening)

AC is a transverse common tangent
to two circle with centres P and Q
and radii 6 cm and 3 cm at the point
A and C respectively. If AC cuts PQ
at the point B and AB = 8 cm, then
the length of PQ is:

p &t Q&% AT A gal Ht AC TH AT
w7l Y@ 1 3 g WA aen Cfig WA
el 6 37, wen 3 ¥ ¥ A AC, B
ﬁgmmﬁm%aﬁtwﬂﬁq‘t .
3 4 PQ F wEE T
(@) 12 cm (b) 15 cm
(c) 13 cm (d) 10 em
(SSC CGL 16-8-2015, Even

of the centre and Al
tween them is 17 &

of AB and CD are 20 o &
respectively. T 1
the circle is:

) 2 i Sfard ¥ <t
B T e IR
g1 CD i Tag %A: 10

4o, &, @ o= =t fiem T =
b)18 (9 (d) 15
§SC CGL 16-8-2015, Evening)

. ABCD is a cyclic quadrilateral.

_Diagonals AC and BD meet at P. If
+APB= 110° and ZCBD=30° ,

then ~ADB measures:

ABCD U 9% =gis $1AC 71 BD faamt

p fig W frem €1 A& £LAPB = 110° 3R

ZCBD =30° %, Z/ADB =?

(a) 70° (b) 55° (c) 30° (d) 80°
(SSC CGL 16-8-2015, Evening)

The area of the triangle formed by

the graphs of the equations x = 4, y

= 3 and 3x +4y = 12 is:

x=4,y=33R 3x+ 4y = 12, TN

PUE AT B9 F trwer 7?2

(a) 6 sq. units (b) 4 sq. units

(c) 3 sq. units (d) 12 sq. units
(SSC CGL 16-8-2015, Evening)

281.

282.

284.

285.
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If a clock started at no

the angle turned by 1,
at 3:45 PM is:

on, th
en
our hand

(SSC CGL 09-08-2015, Mornyy,
In AABC, a line through A Cuts

the side BCgat D such that
BD: D =24 fﬁ‘%;f the area of A ARp

n the area of A ADC jg
A arefl T Y Be
%) D fig A9 T Fedt € fF Bpipg
= N5 2| I AABD H 8F0 60332
’%?Q‘QAADC 1 R W
{a) 50 cm? (b) 60 cm?
{c) 75 cm? (d) 90 cm?
(SSC CGL 09-08-2015, Morning)

3% The measure of an angle whose

supplement is three times as large
as its complement, is

3G FY0T F 79 F g, T T
Fror ST PG F0 F G 2

(a) 30° (b) 45° () 60° (d) 75°
(SSC CGL 09-08-2015, Morning)
A tangent is drawn to a circle of
radius 6 cm from a point situated
at a distance of 10 cm from the cen-
tre of the circle. The length of tan-
gent will be

6 Qerfle Ty AT T g & g 4 1087
= T W fer s fig ¥ Y g
I 2, A el Y R e T w2

(@) 4 cm (b) S cm

(c) 8 cm (d) 7 cm

(SSC CGL 09-08-2015, Morning)
A square is inscribed in a quarter
circle in such a manner that t¥0 of
its adjacent vertices lie 01 the tWo
radii at an equal distance from the
centre, while the other two vert-
ces lie on the circular arc If the
square has sides of length x. 1"

the radius of the circle iS' 3
<gutel g9 W T 1 W T -
f 5o o T AR ATAE T a
@ feer §) Wt < o ¥

e 31 o a4 g A G AT
1 e 7@ w7

16x (b) Ef
(@) n+4 ‘/;
V5.
© 5 @ Vax

ing)
(SSC CGL 09-08-2015 Mos®




WO chords of length a unit and b

2% it of @ circle make angles 60° and

o° at the centre of a circle

respectively. then the correct
relation 153 o

@ g7 A QA R T Fw a

crd @1 b T B, W H PR W FH:

go° 71 90° F U T2, @
gdu 27

@b= J2a (Ib=2a

@b= 32 (d) b =3/2a

(ssC CGL 09-08-2015, Morning)

The measures of two angles of a
triangle is in the ratio 4 : 5. If the
sum of these two measures is equal
to the measure of the third angle.
Find the smallest angle.

@ﬁﬂ'ﬁ%i‘fm’%nﬁma@w;sﬁl
ofz 79 @ FI00 H TY H T AW HOT H
9 $ SR 2, T TG B 0 L2
@90° (b) 50° (c) 10° (d) 40°
(SSC CGL 09-08-2015, Evening)

ABC is a triangle and the sides AB
, BC and CA are produced to E,F

and G respectively. If /CBE =
/ACF =130°, then the value of
/GAB is:

ABC TF faq9 % 3R AB, BC @41 CA
¢ F: E,F 91 G 9 dgrl S H
a% ,CBE=,ACF=130°%, @ ,GAB
1 Y A T2

(a) 100° (b) 80° (C) 130° (d) 90°
(SSC CGL 09-08-2015, Evening)

If two medians BE and CF of a
triangle ABC, intersect each other

at G and if BG = CG, «BGC= 60°,

BC = 8 cm , then area of the tri-
. angle ABC is:

A ABC ¥ ¥ mifzraid BE 91 CF T8¢

T G fig T e ¢ o A< BG = C

287.

288.

289.

/BGC=60°, BC =8 ¥ T, @ A ABG

F &% T B
(a) 9643 cm?

(c) 48cm?

290,

96° then ..b o

APOR ¥ ©Q ddm AR"';'T a0

W O w T R H PR €l A

ZROQ=96"% @ LRPQ=7?

(@) 120 (b)24° () 36° (d) ©°
(88C CGL 16-8-2015, Morning)
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291. i i
ABC is a cyclic triangle and the

bisectors of ¢BAC, <ABCand
<BCA meet the circle at P, Q and R
respectively. Then the
<RQP is :

ABC @& wwim fayw ¥ sk £ BAC,
ZABC 3R £ BCA % GHfgwS® H09:
P,Q 3 R fag gm0 w foem ¥, @

angle

£ZRQP =7?
B c
(a) 90° - — ° —
5 (b) 90° + A
A B
(c) 90° - — =
2 (d) 90 + >

(SSC CGL 09-08-2015, Evening)
The ratio of each interior angle to
each exterior angle of a regular poly-
gon is 3:1. The number of sides of
the polygon is:

292.

@ma@aaa%maa@a‘wﬁw’%\

S 3: 18, @ agye § fee o 82
(@ 6 (b) 7 ©8 (9 &
(SSC CGL 09-08-2015, Evenifig, |
Two circles touch externally Thej""
sum of their areas is 130 S’A\‘cﬁ
and the distance between theiri¢en-
tres is 14 cm. Thie radius ofdthe

smaller circle is: & Y

" \)\ Qe »
A 6 - A “\é g
e 1 4 130 A e SR ST R
R LR {éjf%,a‘xﬁqaﬁ

293.

(a) 2cm ‘\% (b) 3 cm
(c) 4 c:r/n%a:) (d) 5 cm
/{8sclcGL 09-08-2015, Evening)
yland Y7 are tangents to a circle.
i?:{nother tangent to the circle
at‘i,t»he point R on the circle which
infersects XY and XZ at Sand T
respectively, If XY =9 cm and
TX = 15 cm, then RT is :
Xy qet XZ‘QE’Q’%I#TW?T-T@TQ%IQH‘W\I
Rﬁgé@ﬁﬂmi@lﬂ@ﬁ 9l €,
Xy a0 XZ H HA: S T Tfag W
Fredt 21 A8 XY = 9 @Hte X
TX = 15 9o 3, @ RT =7
(a) 4.5 cm (b) 3 cm
(c) 7.5 cm (d) 6 cm '
(SsC CGL 09-08-2015, Evening)
In a rhombus ABCD, ,A = 60° and
AB = 12 cm. Then the diagonal BD
is:
ABCD T SHIEH 2, A= 60° S
AB = 12 GoHle —fg,mﬁﬁ‘ﬁ BD="7

295.

(a) 23 cm (b) 6 cm
12 cm (d) 10 cm
(c()ssc CGL 09-08-2015, Evening)

296. 1f PQRS is a rhombus and

£SPQ = 50°, then £RSQ is:
PORS W wega ¥ W £ SPQ = SO°
2, @ £RSQ=?

(@) 75° (b)45° (0 55° (d) 657
(SsC CGL 09-08-2015, Evening)
Two isosceles triangles have equal
vertical angles and their areas are
in the ratio 9 : 16. then the ratio of
their corresponding heights is

a ﬁ E \.a\; ﬁ' AN % 3ﬂ‘(
T Sl &1 oW 9 : 16 %, W I
3 \.m b Y a’r“?

Sl =1 T |

(A) 4'}&‘8’:‘3 \ (b)3:4
@4f3 Yy WS 4.5

(CPO 21-06-2015, Morning)

298. The peﬁ ters of two similar tri-

angles are 30 cm and 20 cm respec-
J/tvely. If one side of the first triangle
\is 9 'cm. Determine the correspond-

; fl‘g side of the second triangle.

< gaey faqei &t 9 w0 30 /-
st 20 3 1 3 Teet fE B @ T
Qﬁeﬁlvaﬁ%lﬁ@iﬁgﬁﬁ ol &l

297.

M

SESE kR
(a) 15 cm (b) 6 cm
(c) 13.5 cm (d) S cm

(CPO 21-06-2015, Morning)

If in a triangle ABC, BE and CF are
two medians perpendicular to each
other and if AB = 19 cm and AC =
22 cm then the length of BC is
AABC ¥ 3 Wfea#d BE 3R CF T G
W damd € AR AR AB = 19 ¥ IR
AC =22 ¥+ ¥, @ BC F @R 9 X
(a) 20.5 cm (b) 19.5 cm
(c) 26 cm (d) 13 cm

(CPO 21-06R-2015, Morning)
‘O’ is the circumcentre of triangle
ABC. If /BAC= 50° then <OBC is

a7 ABC &1 9f&% 'O’ 31 3R ,BAC=
50°%, ® LOBC =?
(a) 100° (b) 130° () 40° (d) 50°
(CPO 21-06-2015, Morning)
Two circles of radii 10 cm and 8
cm intersect and the length of the
common chord is 12 cm. Then the
distance between their centres is :
< gu fo=t 5= w9 10 [t 7o 8
Fofe ¥ TE TR A FA 2 AR TS
IafTS Sian 61 | 12 [ 7, @ 3
g & o9 B Y 99 R
(@) 13.3 () 15 () 10 (d) 8
(CPO 21-06-2015, Morning)

299.

300.

301.

5o




302.

(]
o]
o

306.

Scanned by CamScanner

The diagonal of a quadrilateral
shaped ficld is 24 m and the per-
;x-n:'!inzlms dropped on it from the
remaining opposite vertices are 8
m and 13 m. The area of the
field is?
& T B § e # S 24 W ©
sk e o O | W W EL
H RPN FTFTWITRE VT H
5T ¥ =
® 252 m* (b) 1152 m*
{©) 96 m* {d) 1536 m?

(CPO 21-06-2015, Morning)

. The angle between the graph of the

linear egquation 239%9x - 23%y + 5

= Q and the x-axis Is

TS T TEE 239x - 239y + 5

=0SR XNIF  TE ® W $ S

@) 30° ()0 (¢ 45 (d) 60°
(CPO 21-06-2015, Morning)

. In a given circle, the chord PQ is

of length 18 cm. AB is the perpen-
dicular bisector of PQ at M. If
MB = 3.find the length of AB

fu 7w 55 3 PQ Wi wI wer 18 ®A.
31 AR TS S T9ENEE &, S PQ S M
Ty === 2SR MB=337 &, @ AB

§

4,
al.

Tl

AV Y

B
{a) 25 cm (b) 30 cm
{c) 28 cm (d) 27 cm

(CPO 21-06-2015, Evening)

. The chord of a circle is equal to its

radius. The angle subtended by
this chord at the minor arc of the
circle is

TF 39 =i oA 59 (591 & S0e ol | oY

TR S 2R S T 01 i A9 4 2 A

{a) 150° (b) 60° (c) 75°

In the given figure, PAB is a
secant and PT is a tangerff”ﬂto the
circle from P. If PT = 5 cm;*PA = 4
cm and AB = x cm, ﬂ{cﬁ“ﬁi

few e 5 ¥ PAB THZ (secahlt) & 3R
PTTE 31 fog TR RS 71 T = 1@
€1 7 PT=5 /il (PARg T, 3R AB-x
JALE A = ?"%

Q:ﬁ_“ “

{a) 4/9 cm
fc) 9/4 cm

{b) 2/3 cm
{d 5cm
{CPO 21-06-2015, Evening)

307.

308.

309.

310.

Two circles with their centres at O
and P and radii 8 cm and 4 cm
respectively touch cach other ex-
ternally. The length of their com-
mon tangent is

Y gm fFm FR O pd 3t famat B
Fae: ¢ Aaf, 7o 4 A, R, ww-gE A

g w1 R Tl 8, @ e wyl Y@

T e 3 w2

(a) 8 cm {b) 8.5 cm

(©) 82 cm (d) 83 cm

(CrPO 21-06-2015, Evening)
Two circles of diameters 10 c¢m and
6 cm have the same centre. A chord
of the larger circle is a tangent of
the smaller one. The length of the
chord is

10 /. 7w 6 R, @ AR [N T B
2 T &1 98 99 T T <A o g9 W

ol Y &, @ e A T e ?
(a) 8 cm (b) 10 cm
(c) 6 cm (d) 4 cm

(CPO 21-06-2015, Evening)

313.

314

AD. A ABCH 2 Apes L
fBursrs Ut == 3 DF 5t Tn_*' i
BC A =i #1790 S 3 ﬁ:m‘. R,
fiet 11 1 AC ) oy 15 A

A EAE (em ¥ ) Fra am}('"’*
(a) 8 (b) 3 () 4 '
(CGL Maing 3
The interior anpje
polygon exceeds ifg exteris
by 108°. The tiumber of s;ld " Al
polygon is 8 0f the

U U AR A 3 3a0 A
108 3% 1 AR 7 ap
22
(@) 10 , ()18 () 19 14

£ (Cdl: Maing 21‘06‘220';'5

. Quadrilaterdl ABCD jg
scribed abolt a circle, If

{ de. IF the |
of AB, BE, CD are 7 cm, g oo
and 9.2 c¢m respectively, thelr.] H::

-R'n

A pg
N6

(¢
‘1}0&2015)
U l’f‘gul:”

k!

Citeum.

_,\"chng'!h (in em) of DA is

Ay { ?
W B1 #fx AB, BC, CD W g,

( | )%s

The centroid of a A ABCis G. Th'g1 ‘*l‘j\‘:

area of A ABCis 60 cm? The agca)?")

of AGBC is P,
A ABCH 5% G 1,4 ABC 1 #hywred
60 cm?®1 A GBC m:ﬁa{m}ﬁmm !}I'rn?
(a) 30 cm? _{b) 40 cm?
(c) 10 cm? = E(d] ?b cm?

(CGL th/lai'n‘s-'21-06-2015)
In trapezivim WBCD, AB | CD and
AB = 2,CI)\J’~lts diagonals intersect
at O. U"t‘ﬁﬁ}i‘rea of A AOB = 84 cm?,

™ b v
A'ﬁ'x‘;‘n ths_,'ﬁrea of A COD is equal to

"

¥ B
(d) 1207, 3
(CPO 21-06-2015, Eveni )

311.

312.

Sy, . .
§ guda ABCD ¥ AB| CD? @i

AB¥ 2 CD 3?1 To@ fasvi 0 W uwF @
I FEA B 9K A AOB F 8Fe 84

cm?*®, W A COD I AH forme wuat 87
(a) 21 cm? (b) 72 cm?
(c) 42 cm? (d) 26 cm?

(CGL Mains 21-06-2015)
If O is the circumcentre of a tri-
angle ABC lying inside the triangle,
the / OBC+ Z BAC is equal to

I} O faw ABC #1 fiwg ® st frqmt &

s fem €, @ £ OBC + £ BAC T8

T BA?
(a) 120° (b) 110° (c) 90° (d) 60°
(CGL Mains 21-06-2015)
AD is perpendicular to the inter-
nal bisector of # ABC of A ABC.
DE is drawn through D and paral-
lel to BC to meet AC at E. If the

length of AC is 12 cm, then the
length of AE (in cm.) is

315.

g qH W A sl pdE Ancn 5 2

"7 em, 8.5 em 3 9.2 em R
g (cm ¥ ) e gy
(a) 16.2 (b) 7.7 {c) 10.2 (d)7.
(CGL Malns 21.06-2015)
Given that the ratio of altitudes of
two triangles is 4:5, ratio of their
arcas is 3 : 2, The ratio of their cor-
responding bases is
afz ) fangait = it @l # sqma: st
I Anel A 3 2 2 817 et

STMRY o1 ST P B2
(@) 5:8 (b) 15: 8
() 8:5 (d) 8 : 15

(CGL Mains 21-06-2015)

316.

317.

Wizard of Maths - Rakesh Yadav Sir

In AABC , #/BAC =90°and AD LBC.
If BD = 3 cm and CD = 4 cm, then
length of AD is

AABC ¥, /BAC =90°#1 AD LBC U

7z BD = 3 cm 3 cp=4emt T

AD F oar 2

(@) 243 cm (b) 3.5 em
(c) 6 cm (@ 5 cx:]os.zOl-"'

(CGL Mains 21 it
A and B are centres of t¥0 €0
of radii 11 cm and 6 cms "P%
tively, PQ is a direct common

— ¢
gent to the circle. if AB=13

f po will be
then length of PQ a,ﬁfﬁ“

A 3iR B FHI: 11cm3f”66m3m‘3

o < o @ @5 & QT Y

srerd] T #19% AB=13 ¥

g gl

(a) 12 ecm

(c) 8.5 cm
(CGL

@ 17 63‘5.2015'

Mains 21°

-
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319.

320.

[n (rinnp‘l(‘ AE‘L:. DI ” l](.: Wll(‘.l‘(‘ D
js a point on AB and E is point on

h TSt B ) feg stiafer e ol

330. If the angles of a triangle are in the

¢. DE divides the arca of A S s 1 ST e 82 ratio 2 : 3 : 5, then the measure of
i i (@) 122 b)y1:3 the least angle of the triangle is
into two cqual parts. Then DB : AR = ' ] o B o
is equal to (©) 1:42 @ 1.3 f g Fye & 01 2:3: 5% AT

g f ABC T DE | BCR fre p,

(CGL Mains 12-04-201 5)

%, ) Fansl o CIEEH F0 A 2

 Brw # adtr 324, 1If o and ; . 20° (b) 90° (¢) 18° (d) 36°
A WG By OB, AC W g sides of nbringrﬁi t:;icmigl‘c”w“}fogg the FHER (Ln(c) D1.11.3018 Moxniiig)
DE A ABC® AwE W R WA potenuse is 10 and whose arca }i)s 331. ABC is a triangle in which £A =
ponfr w0 ¥, @ DB AB fre wwwr #7 20, then the value of (a + b2 is 00°. Let P be any point on side AC.
q&“.aﬁz.b@@m“ﬁ&ﬁﬂﬂ e If BC = 10 cm, AC = 8 cm and
(1‘)\/5:(\[5"‘1) (b) (\/5-1):\/5 @W%WWm%aﬁtm BP= 9 cm, then AP =
208, (a+ by A fore 2 ABC T fs @ fogd / A=90°%, WM
@V2:W2-1 @ W241:42 () 140 (b) 120 (c) 180 (d)160 d fF AC yw w p &g fag f1 AR
(CGL Mains 21-06-2015) 335 (CGL Mains 12-04-2015) BC = 10 cm, AC = 8 cm ¥R BP =

ABCD is a cyclic quadrilateral. AB
and DC when produced meet at P,

Le_t P and Q be two points on a circle
with centre O. If two tangents of
the circle through P and Q meet at

9cm ¥, @ AP =,

If PA = 8 cm, PB = 6, PC = 4 cm, . (@) 2:"5»cm | (b) 35 cm
then the length (in em) of PD is A with fPA_Q =48°, then «APQ is %
ABCD T W14 Wi« ¥ AB sii DC I o g iy OOt qm W p e Q A (© 2/3cm (@ 33 em

s wgd 9 & @ A P W frert ¥, AR
PA =8 cm %, PB=6cm®, PC =4
em ¥, @ PD ®I R fRad ?2

fag & afk v & 9 fag pai Q@ T

(LDC 01-11-2015 Morning)

| T fEm AW frert € A 332;\BCD is a cyclic quadrilateral, AB
ZPAQ =48°, then <APQ fFa &m? A (s the diameter of the circle. If

o o o . A W ) = 50° i
(@) 10 cm (b) 6 cm () 96° (b) 66° (c) 48° (d)60° & W, )4 ACD = 50°, the measure of #BAD is
(CGL Mains 12-04-2015) { |y ABCD ¥%M 9g4¥ ©, AB 1 H =¥ 2l
UR (d) 8 cm 326, If the sides of a triangle are in fig \J 5
& in e %/ @k ,ACD=50°%, @ £ BADH AN ?

(CGL Mains 21-06-2015)
ABC is a triangle in which

DE||BCand AD : DB = 5: 4.
Then DE : BC is
ABC T @ fn ® fred DE || BC 31k
AD:DB =5:4% @ DE: BC I 27
(a)4:5 (b)9: 35
(c)4:9 (d5S:9

(CGL Mains 12-04-2015)

1,1 W (a) 130° (b) 40°

: 1.3 . :
ratio 31737, then the trianglehis (LDC 01-11-2015 Morning)
\\ 333. BE, CF are the two medians of

(c) 50° (d) 140°

Rk w o w aaf%;\i’»’:ili:?»ﬁ,%
N

) Y
agqmﬁ%’,aﬁﬁﬁaﬁﬁr%?\\r N
(a) Right triangle(THRIT)
(b) Isosceles, tfiangle” (FHIEATE)
(c) Obtse fianglé ()

AABC and G is their point of in-

tersection. EF cuts AG at O. Ratio
of AO : OG is equal to

AABC & @ Afer#Td BE, CF € 3R G
7% whr=ag # fag %1 EF, AG &l O W
FA 1 ST AO : OG foFmeh awar 82

321. The radii of two concentric circles (d) Acute\ffj%’l‘éle (=R _— b
are 17 cm and 25 cm. a straight (CGL Mains 12-04-2015) (@3: b)1:2
line PQRS intersects the larger 327 Afthe gtfb‘)of the angles of a quad- ©2:3 @1:3

circle at the points P and S and
intersects the smaller circle at the
points Q and R. If QR = 16 cm, then
the length (in cm.) of PS is

< e e ) f 17 3@ ofR 25 L

S| T E S

— foRe lisbia ¥ o %308! The length of two parallel chords of
€ 4 circle of radius 5 cm are 6 cm and

foigell W et € air(agfrzqﬁmQﬁTé /t

faiai W et §1 afk QR = 16 91
Ps @ T (3 ) frerdt 82

Axildterals 2 : 7 :2 : 7, then it is a
afs g & Il I 22 7:2
7\%:;;;‘& T 1 2?
(a)” trapezium (b) square
(c) parallelogram(d) rhombus

(CGL Mains 12-04-2015)

8 cm in the same side of the centre.
The distance between them is

(LDC 01-11-2015 Morning)

334. AB is the diameter of a cricle with

centre O. P be a point on it. If
/POA=120°. Then, /PBQO =?
ABT& 94 &1 =¥ € fomat 95 0§ 3l
WWPTF fag 81k £ POA=120° &,
@ LPBO =?

(@) 60° (b) 50° (c) 120° (d)45°

: iy 2 2 Wi S (LDC 01-11-2015 Evening)
(a) 41 (b) 33 (cfa32%, (d) 40 5cm I‘qsq[.ané T T . R 335. A circle touches the four sides of
8 ‘Y64\ 015) ﬁm@waﬁ@ﬁﬁ‘mﬁ6cm 8 . oL a
(CGL Mains 12-04- ! \ quadrilateral ABCD. The value of
322. AB is a diameter of a‘circle with cm 1 37 @9 H ®
centre O. The tangefftf} at C meets (@) 1 cm (b) 2 cm ———~(AB+CD) is equal to:
‘AB 4 S Z/CAB = 34°, 3 cm (d) 1.5 cm C :
Pmduce%:&ft‘.Q- I <CA ()3 € Lpc 01-11-2015 Morning) Gl
then m wif'ure\of‘ w/CBA is 320. AB is a diameter of a circle havipg T& g9 I94S ABCD # IR SRt = st
AB %3 T3 0 V‘cﬁl 1 =@ ¢l C W centre at O.P is a point on the cir-
£ ~g the circle. If £ POA AB+CD
b @ Wy at AB ¥ e g1 3l cwlr;f;:ertlkc;noine:sure of £/PBO is w (CB+DA) P T e
? = 2 .
<CAB = 34%, @ /CBA W”T"a’“m:' w@qamm%,ﬁﬂﬂ*?ﬁ'?
(@) 56° (b) 68° () 34° (d) 1Qf 5 gw # Wy W TE fag 21 IR 1 1 1
33 (CGL Mains 12-04-20 ) POA = 120° 2 @ ,PBO ® W 3 (@) 3 (b) 1 (c) 3 d) —
- For an equilateral triangle, the ra- £ *

tio of the in-radius and the outer-
radius is

@ 75° (b) 60° (c) 68° d) 70°
(LDC 01-11-2015 Morning)

(LDC 01-11-2015 Evening)

rd of Maths - Rakesh Yadav Sir
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336.

337.

338.

339.

340.

© 341,

=1

Scanned by CamScanner

D and E are mid-points of sides AB
and AC respectively of the

A ABC.A line drawn from A
meets BC at H and DE at K.
AK : KH = ?
D 3 E, A ABC. # Y AB 3t ACH
o 9o fag €1 AR it 7w @ H
W BC A 3 K T DE ¥ fierdt 31
AK : KH =?
(a)2:1 b1:1
(c)1:3 (d 1:2

(LDC 01-11-2015 Evening)

Let ABC be an equilateral triangle
and AD perpendicular to BC, Then

AB? + BC? + CA? = ?

T & ff ABC W& §Harg i@ & sikt

AD, BC # @4 B @ AB? + BC? +

CA? = ?

(a) 3AD? (b) 5AD? (c) 2AD? (d) 4AD?
(LDC 01-11-2015 Evening)

AB and AC are tangents to a circle
with centre O. A is the external
point of the circle. The line AO
interesect the chord BC at D. The

measure of the /BDO is:
AB 3t AC T& 9 w1 wq¥l e ©, fored
O 91 ®1 %% 81 AYW & 9l T fag 2l
AO @1 Sl BC &l D W et 81 ~BDO
w1 O &
(a) 45° (b) 75° (c) 90° (d)60°

(LDC 01-11-2015 Evening)
In AABC, the external bisectors of
the angles /B and /C meet at the
point O. If /A = 70°, then the mea-
sure of /BOC is:

AABCH, ®W /B ¥R ,C % &Y

%, 9 ,BOC® 9 1 T2
(@) 75° (b) 50° (c) 55° (@) 60°

(LDC 15-11-29153Morging)
ABCD is a cyclic trapéziun \(;hose
sides AD and BC a;er’g‘pda.r llel to each
BC =(7'5; \fh}an the mea-

W

sure of /BCR.sh

other; if £A

ABCD TRz g ¢ foreat
§9 AD 3fg BC TF g8t % T €;
£ABC =75°%, 3 /BCD ¥ 9H 1 gm?
(8) 75° (b) 95° (c) 45° (d)105°

(LDC 15-11-2015 Morning)
The distance between the centers
of two circles of radii 6 cm and 3
cm is 15 cm. The length of the

342.

343.

<
3445 2@(: AD | BC and AD? =

R
@ﬁr AN

A T

< o fig W frrerd #1 m;‘zoa;;?

)

345.

transverse common tangent to the
circles is:

6 cm 31K 3 cm el 9@ A A B TR F
@9 0 15 cm 81 g9 H WA fodp
oyt Y w5t warg fhe 87

(a) 7\/gcm /-'gtﬁ

(© 6y6cm Akl
(LDC 15-11-2015 Morning)

(b) 12 cm/¥%
(d) 18 cm/¥Ht

sA of AABCis a right angle. AD is
perpendicular on BC. If BC = 14
and BD = 5 cm, then measure of
AD is:

AABC #1 A TF W& 21 AD, BC
R @ 81 9% BC = 14 G, M BD =5
Y. 2, & AD I 7 2:

@ V5em/ 3. (b) 3V5cm/ Wl

A

% 1’?(
(LDC 15-11-2015 Evening) ()Q}
D0
In a circle with centre at O @”d},, “\
radius 5 cm, AB is a chord of l#cngﬂtl'gﬁ‘b

8 cm. If OM is perpendiculgg\t& ABY
then the length of OM is: “x\\

@%ﬁ,ﬁﬂ%#ﬁpﬁéﬁﬁ}ﬁ
fira 59, 0, 31 ABsﬁzé’{. St e 21
af§ OM, AB R a‘{%&a}‘mM w1 T
farh 22 Q \aj

(a) 3 cx{f%,itﬁ ’;:;/’(b) 4 cm/d.

© 1 cmy\%’%%l (d 2.5 cm/gH

h:

,(L?Q 15-11-2015 Evening)

v BD.

ch.;,The measure of /BACis:

¥ AABC ¥, AD | BC 3R AD? = BD.

DC®, @ /BACH! W &:

(a) 75° (b) 90° (c) 45° (d)60°
(LDC 15-11-2015 Evening)

Let AX ) BC of an equilateral tri-
angle ABC. Then the sum of the
perpendicular distances of the sides

of AABC from any point inside the
triangle is:
| wHarg BIqs ABC # AX | BC, @
s % sfw frelt fig & AABC %1 el
it o gfeE &1 dht g
(a) Greater than AX (AX aift=)
(b) Less than AX (AX ¥ &%)
(c) Equal to BC (BC % =q=R)
(d) Equal to AX (AX % =&R)

(LDC 06-12-2015 Morning)

346.

347.

348.

349.

o8

The centroid of an equj

uil
angle ABC is G ang qA}; a:eral s
The length of AG (in cm) is'l() em.

Th mﬁgﬁ ABC # 3%

AB = 10cm @ AG F oy
forert rit?

G¥ oy

4

(iw »06‘:;12-2015 Morning
AB i%f‘a\dféaglg‘fgr of a circle pay.
ing centre at O. PQ is a chorg
which c}\oe;@not intersect AB. Join
A%}and ‘BQ. If ,PAB = £ ABQ,
jtheh ABQP is a:
0 #5 3 70 F AB oIE #1 P 3
fﬁABa’Hz"fm‘: AP it B i
S % A< 4 PAB = 4 ABQ, @1 ABQP
1 3m?
(a) Cyclic rhombus/=#11 T3343
(b) Cyclic rectangle/ %4 2
(c) Cyclic trapezium/=#M W9
(d) Cyclic square/=®™ a1

(LDC 06-12-2015 Morning)
In. AABC, the internal bisectors of
+Band ,C meet at point 0.1f £A
= 80° then . BOC is of:
AABC ¥ aidfia zfames B 4C
fig o w fuem 21 A LA =807
« BOC fied i@ %1 gim?
(a) 120° (b) 140°(c) 130° (d)100°

(LDC 06-12-2015 Morniog)
The distance between centres of
two circles of radii 3 cm and 8 "”:,
is 13 cm. If the points of con@d o
a direct common tangent the led}:‘z
are P and Q, then the length of !
line segment PQ is: , o
3cm #R 8em FH o A 41 g 7 7
% =4 gft 13 cm #1 A g A T
AT T % wv fag pATQ &
e PQ #1 war 41 e’
(a) 11.9 cm / FH
(b) 12 cm / #H
(c) 11.5 cm / B4
(d) 11.58 cm / ¥t

)
(LDC 06-12-2015 Ereni®é

Wizard of Maths - Rakesh Yadav Sir————‘—“/‘@

e

|
|
|

e e et ot ——— o S PR et



ABwAC?n'—‘U] P'jT’QW’T.}
T FTEA T = AP:PB=3:24
AAPQ: AABC‘EW?IW
71 w7

@ 9:4 (b) 25:4

() 9:25 (d)4:9

(88C CPO 20-03-2016, Morning)
AB and AC are two chords of a
circle. The tangents at B and C
meet at P. If ~BAC = 54° | then
the measure of £ BPC is
AB #7 AC UF 73 F1 2 Al T1B &
Cw o TEuP F e 2149 £ BAC
= 54°, f/ BPC =1 T =1 27
(a) 54° (b) 108°
(c) 72° (d) 36°

(8C CPO 20-03-2016, Morning)
The length of the diagonal BD of
the parallelogram ABCD is 12
cm. P and Q are the centroids of
the A ABC and A ADCrespec-
tively. The length (in cm) of the
line segment PQ is
s 9999 ABCD = fa%vi BD =i
FaE 12 55 21P @ Q #991: AABC
#MAADC F FzF 21 @@z PQ
T waE (T 6 22
(a) 4 (b) 6
c) 3 (d) 5

(88C CPO 20-03-2016, Morning)

. PQRS is a cyclic quadrilateral,
such that ratio of measures of

(P,7Qand /R is 1:3:4then

the measure of ~S is )
PORS U% & FFM Jq9F ©

fF /P, £Q 4R £R% T F 2
1:3:4%, @ £S =1 91 #FA'E

(a) 72° (b) 36°
(c) 108° (d) 144°
(88C CPO 20-03-2016, Mesni

369.A chord of lengt}{)Q 3 !
a distance of 5 orﬁ' from the

centre of a c1rcle. The length

of the chord or Yhme circle
which is

distance of 12
t tre is
x 94 % A fag

366.

37

367.

e

cm fm@

24 cm

S qor fig § 12cm F 50 R
(@) 17 ¢m (b) 12 cm
(©) 10 cm (d) 11 cm

(8sC CPo 20-03-2016, Morning)
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370.1n

372.PS is a diameter of a

the adjoining figure
ZAOC =140° where O is the
centre of the circle then
ZABC 1is equal to:

FAE AFE LAOC =140° F, T
Oﬁqﬁ“???:{? FLABC ==

{’!‘H?

<
Agc
B
(a) 90° (b) 110°
(c) 100° (d) 40°
(8SC CPO 20-03-2016, Evening)
1.The ratio of inradius and

circumradius of an equilat-
eral triangle is:

gl e e =1 @9 573 3RA

it 5= =1 A9 7= 2
(a) 1:2 (b) 2:1

(©) 1:42 dv2:1
(8sC CPO 20-03-2016

.0
'0& of

diameter
‘g points
S are all
C es are drawn
on PQ an9 & diameter .(as
shown hioi g.). The perim-

eter ofg d portmn is:

radius 6 cm. If}
PS, Q and R ar
such that PQ
equal. Semigt

rlmﬁjaﬁq%

4}‘ QWRWﬁ”‘?’S[?R’%

%QR RSmWomm
x&ﬁ(a‘mﬁ-mﬁmmw

PQaanSmsmqaqu%l

™\ g w1 9REE T L2

3 2
@) 75:7_ cm ) 377cm

6 6
(©) lso?cm (d) 187cm

(SsC CPO 20-03-2016, Evening)

4 Scm ‘mmmmqam"" 373.In AABC andAPQR,

/B=4Q,/C=/R- M is the
midpoint on QR, If AB:PQ =
area (AABC) )

7 : 4, then 7 - (APMR) '®

of Maths - Rakesh Yadav Sir

A ABC 3 A PQR ¥,

/B=£Q./C=/(R TIQR®W M
Wm-?!mprPQ =7:4, f”

#57= (AABC)

&= (APMR)
33 "- 30
& 49 - 49
\Te @ &

. (SSC CPO 20-03-2016, Evening)

74.1In A ABC, the line parallel to
N BCmterestAB&ACatP&Q
respectively. IfAB: AP=5: 3,
then AQ : QC is:
A ABC ¥, BC 51 59k @@ AB @@
AC 31 F9%: PG Q W =i €1 3R
AB:AP=5:3% FAQ: QC =

.

B2
(@) 3:2 ) 1:2
() 3:5 (d2:3

(SSC CPO 20-03-2016, Evening)

375. A ABC is right angled tri-

angle with AB = 6 cm, BC =

8cm. O is the in-centre of the

. triangle. The radius of the in-
circle is:

A ABC T T9=mig faye £ fage

AB =6 cm, BC = 8cm ?1 O firg=

T Fa: T3 T FEE I9 = e
N TFI?
C
[
SCm{ Q
RP O
L\r
BkP A
_ 6cm
(@) S cm (b) 3 cm
() 2 cm (d) 4 cm

(SSC CPO 20-03-2016, Evening)




Sl i 267, () 308. (1) 3‘13.((1)
a 191, (c) | 229.(c) 300. (¢) | 344,
( 115.(b) | 153.(a) ( 230. () | 208.(b) | 300.(c) | 344,
1. ® |39 (@ |77 G 116. (a) 154. (b) 19‘3‘ (€) :'-H ((b) 269. (b) 307. (¢) | 345, (d)
2. b | 40. (© |78 @ a) | 155.(c) | 193.00 & 0 (©) | 308.(a) | 346,
® | 79. (@) 117.(a) 194, (d) 232. (b) anc 347
3. (0| 4L 80. (c) | 118.(a) | 156.(d) o= (o | 233, (@ | 271 | 309.(d) | 347 (g
4. (0 | 42 ‘C; g1 @ | 119.0) | 157.(@ 19?-(“‘1 oy (b) | 272.(0) | 310.(a) | 348,
5. (@) |43 0 ' 120.(c) | 158.(a) | 196.(a iy ) | 273.(d) | 311.(c) | 349,
6. (% 2323' ((2 121.(a) | 159.(d) | 197.(d) ,2,2(: ((;: 274.(b) | 312.(d) | 350.()
7. (a) | 45. B 84- ® | 122.(c) | 160.(p) | 198.(d) ;37 ) |275.(d) | 313.(a) |351.()
8. (b) | 46. 0 o b) | 123.(c) | 161.(a) | 199.(c) ;38' () | 276.(1) | 314.(b) | 352,
o104 @ |56 o | 2a@ |62 | 2000 209.(0) | 277.00 | 31500 | 35,9
10. 5 87. () | 125.a) | 163.(c) | 20L.(c) | 239.(c 278.() | 316.(a) | 354.(q
11. (¢) | 49. () - 202.(a) | 240.(c) | 2 b
26.(a) | 164.(b) 7 317.(a) | 355. ()
88. (b) | 126.(a) 79. (d)
2. fe) | S0. {g) | 88, 165.(d) | 203.(a) | 241.(a) |2 b | 356. (0
13. () | 51 (@ |89. ) | 127 Ed; 166, d) | 204.(d) | 242.(b) | 280.(a) 3‘8'“ ge b
' ) 128. (a . ) 1. (c) 319. (c .
14. (a) | 52. ®) | 90. (a) 167.(d) | 205.(b) | 243.(d) | 28 g
53. 91. b) | 129.(d) ' _ 282.(c) | 320.(d) |358.({)
el 54 ((t;)) 92. () | 130.¢) | 168.(c) | 206.(b) | 244.(a) 283.(b) | 321.(d) |359.(q)
16. (a) ) ) 169. (b) 207. (a) 245. (a) = 360 (b)
17. () | S5. (b) 93. (0 : 131. (b ) 208. (a) 246. (d) 284. (¢) 322.(a) ¢
56. (d) | 94. (© | 132.(a) | 170.() - 285.() | 323.(8) | 361.(0
112' ?3 7. B |95 @ | 138, o | b 208 iig' ((d; 286.(a) | 324 (c) |362.(d)
g . M . a . .
20. () | 58. (B) | 96. (c) | 134.(8) | 172.(a) gi? 8 249.(a) | 287.(d) | 325.(b) | 363.()
o @ e B e 122. (((t:); 12 g 212, (b) | 250.(b) | 288.(a) | 326.(a) | 364.(a)
136. - : ,
2. (9 ) 00 O 22’ ((3 137.(2) | 175.0) | 213.() | 251.(c) | 289.(5) | 327.(q ggz 8
Sl B 100 ) | 138.0) | 176.(d) | 214.() | 252.() | 290.(a) | 328. (a) :
o 62 td; 101. E) 189.(9 | 177.¢@) | 215, (B) ]253.(d) | 291.(a) | 329.(b) 36;}8;
25. (o) | €3. (c ' ' ' 292.(c) | 330.(d) |368.(a
02. 140.(c) | 178.(c) | 216.(a) | 254.(v)
o 1 lles ((:; 103.((3 ML 179.(d) | 217.() | 255.0) | 293.() | 331. () 363'(8)
3; o | e @) 10400 | 192.(a) | 180.(¢) | 218.(c) | 256.(c) | 294.() | 332 [ 371 )
29, ((2)) 67. B ] 105.(c) | 143.2) | 181.(c) | 219.(a) | 257.(¢) | 20s. (c) | 333.(a) 3;2' i
25, (@) | 68. (b) | 106.(a) | 144.(@) | 182.() | 220.(q) 258.(a) | 296.(d) | 334.(a) |3 3' d
31 (@) | 69. & | 107.) | 145, b) | 183.00) | 221.(0) | 250.(a) | 207.(5) | 335 ) 3;4'(51)
92. () | 70. b) | 108.@) | 146.0) | 184.(d) | 222.() | 260 @ | 298.() | 336. () 275~ %
33. () | 71. () | 109.(d) | 147.(d) | 185.(q) 223.(c) | 261.() | 299.(a) | 337.(q) :
3.0 | 72. () | 110.(c) | 148.(5) | 186.(q 22%.(a) | 262.(6) | 300.(c) | 338.(q)
5. (@) | 73 () | 111.0) | 149.0) | 187.(a) | 205 @ | 263.0) | 301.() | 330. ()
3. B 74 (@) | 112.(0) | 150.(0) | 188.() | 206 0) | 264.(a) | 302.(a) | 340.(a)
37..@ | 75 (&) | 113.9) | 151.(9) 189.(d) | 227. () 265.(a) | 303.(c) | 341. ()
Bg_ (€) | 76. (& | 114.(c) | 150. ) | 190.(@) | 298 ) | 266.) | 304. (b) | 342.([b) e
\/\
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